1. Which is the next figure in the figure series given?
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Correct Answer: (D) C

Solution:

Step 1: Observe the pattern of transformation in the given series. The first
figure is a square with a single arrow pointing right. The second figure is a circle
with the same single arrow.

Step 2: The third figure transitions back to a square, now with two arrows
pointing right. The fourth figure follows the pattern and becomes a circle while
keeping the two arrows.

Step 3: According to the observed transformation, the next figure should
continue the pattern. The alternation between square and circle continues, and
the number of arrows increases by one. The next figure must be a square con-
taining three arrows pointing right.

Step 4: Among the given options, the figure that matches this pattern is
(D) C, which is a square with three arrows pointing right.

Thus, the correct answer is:

(D)C.

Quick Tip

In figure series problems, observe alternating shapes, increasing elements,
or directional changes to determine the next pattern logically.




2. Which is the next number in the series given below?
185, 158, 133, 110, 89, ?
(A) 70 (B) 75 (C) 73 (D) 77
Correct Answer: (A) 70
Solution:
Step 1: Identify the pattern in the given series:

185, 158, 133, 110, 89 ?

Step 2: Observe the differences between consecutive terms:

185 - 158 = 27
158 - 133 = 25
133 - 110 = 23
110-89 =21

Step 3: The pattern in the differences is:

27, 25, 23,21, 7

This sequence follows a pattern where each difference decreases by 2.
Step 4: Following this pattern, the next difference should be:
21-2=19

Step 5: Subtracting this from the last term:

89-19=170

Thus, the correct answer is:

(A) 70.

When solving number series problems, look for patterns in the differ-
ences between consecutive terms. Common patterns include arithmetic
progression, geometric progression, or alternating sequences.




3. IfX:Y=5:7,X:Z2=3:8,and W:Y =4:9, then what is X : W?
(A) 28 :27 (B) 28 : 45 (C) 45 : 28 (D) 27 : 28
Correct Answer: (C) 45 : 28

Solution:
Step 1: Given ratios are:

X:Y=5:7 X:Z2=3:8 W:Y=4:0.

We need to determine X : W.
Step 2: Express Y in terms of X:
From X : Y =5:7,

- Tx
5
Step 3: Express W in terms of Y:
From W :Y =4:9,
4
W =-Y.
9

Step 4: Substitute Y = %X into W:

4 7 28
W=5x58=3
Step 5: Express X : W:
X :W =45:28.
Thus, the correct answer is:
(C)45 : 28.

When solving ratio problems involving multiple variables, express all
terms in terms of one variable and simplify step by step.

4. The six words given below belong to a certain parameter related
to cricket. Which is that parameter they belong to?



(Mid-Off, Long-On, Gully, Point, Cover, Mid-On)
(A) Strategies (B) Equipments (C) Pitch Dimensions (D) Field Placements
Correct Answer: (D) Field Placements
Solution:
Step 1: The given words—Mid-Off, Long-On, Gully, Point, Cover, and

Mid-On—are all terms used in cricket.

Step 2: These terms are not related to strategies, equipment, or pitch di-
mensions but refer to specific positions on the cricket field.

Step 3: In cricket, field placements determine where players are positioned
to maximize effectiveness in bowling and fielding. The mentioned terms repre-

sent common fielding positions.

Thus, the correct answer is:

(D)FieldPlacements.

In cricket, field placements define where players stand on the field to
catch, stop, or limit runs. Common positions include Slip, Gully, Cover,
Mid-Off, and Long-On.

5. Which is the next number in the series given below?

307, 311, 313, 317, ?

Correct Answer: (C) 331

Solution:
Step 1: Identify the pattern in the given series:

307,311,313, 317,?



Step 2: Observe that all the given numbers are prime numbers:
307, 311, 313, 317

Step 3: Identify the next prime number after 317:

The next prime number after 317 is:

331

Step 4: Verify the pattern:
The given sequence consists of consecutive prime numbers:

307,311,313, 317,331

Thus, the correct answer is:

(C)331.

Quick Tip

When solving number series problems, check for prime numbers, squares,
cubes, or arithmetic sequences as common patterns.

6. Sravan is the son of Charan’s father’s sister. How is Charan’s
father’s mother related to Sravan?

(A) Cousin

(B) Grandmother
(C) Mother

(D) Niece

Correct Answer: (B) Grandmother

Solution:

Step 1: Identify the relationships step by step.

- Charan’s father’s sister is Charan’s paternal aunt. - Sravan is the son of
Charan’s paternal aunt, which means Sravan is Charan’s cousin.

Step 2: Identify Charan’s father’s mother.

- Charan’s father’s mother is Charan’s grandmother.

Step 3: Determine how Charan’s grandmother is related to Sravan.

- Charan’s grandmother is also the mother of Charan’s paternal aunt. -
Since Sravan is the son of Charan’s paternal aunt, Charan’s grandmother is
also Sravan’s grandmother.

Thus, the correct answer is:



(B)Grandmother.

When solving blood relation problems, break down the relationships step
by step and analyze how the individuals are connected.

7. Select one of the following four options that will make the second
pair analogous to the first pair given.

BDGLS : MORWD :: SUXCJ : ?

(A) CEHMS
(B) DFINU
(C) EGJOU
(D) HIMRX

Correct Answer: (B) DFINU

Solution:
Step 1: Identify the pattern in the transformation of BDGLS to MORWD.
-B—->M((+11)-D—-0 (+11)-G—>R (+11)-L - W (+11)-S =D
(+11)
Each letter is shifted forward in the alphabet by 11 positions.
Step 2: Apply the same pattern to SUXCJ.
-S=>D((H11)-U—=F (+11)-X -1 (+11)-C = N (+11) - J — U (+11)
Thus, the corresponding word is DFINU.

Thus, the correct answer is:

(B)DFINTU.

Quick Tip

When solving analogy problems involving letter sequences, check for al-
phabetical shifts or positional patterns in both sets.




8. The three words given below belong to a certain quantity given in
one of the options. Which is that quantity that they belong to?

(Dhaka, Kuala Lumpur, Canberra)

(A) National Currencies (B) Official Language (C) Rivers (D)
Country Capitals

Correct Answer: (D) Country Capitals

Solution:

Step 1: Identify the given words and their respective countries.

- Dhaka is the capital of Bangladesh. - Kuala Lumpur is the capital of
Malaysia. - Canberra is the capital of Australia.

Step 2: Match the given options with the category to which the words
belong.

- Option (A) National Currencies — Incorrect, as these are not currencies. -
Option (B) Official Language — Incorrect, as these are not languages. - Option
(C) Rivers — Incorrect, as these are not rivers. - Option (D) Country Capitals
— Correct, as all three are capital cities.

Thus, the correct answer is:

(D)CountryCapitals.

To solve classification-based questions, identify the common characteris-
tic among the given words and match it with the most relevant option.

9. Which symbol comes opposite to the face with letter “;”, when
the given question figure is folded into a box?
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Correct Answer: (B)

Solution:

Step 1: Identify the net structure of the cube and analyze its faces.

- The given net consists of six faces with the symbols: !, #, $, *, @, and j.
- The faces will fold into a cube, where each face will have an opposite face.

Step 2: Determine the opposite pairs.
- Observing the layout, we see: - The face labeled “|” is adjacent to @, *,

and #.
- The face opposite to “;” is #, as it is positioned directly opposite when folded.

Thus, the correct answer is:

(B) #.

To solve cube folding problems, visualize how the given net folds
into a cube. Identify adjacent faces and their opposite counterparts
systematically.

10.

Information is given below followed by an inference.

Read both the information and inference and answer the question given
below.

Information:

On a cloudy day Team A plays a one-day cricket match against Team B.
After chasing the target halfway down, rain interrupted the play. Eventually,
umpires called off the match and announced one team as the winning team due
to the Duckworth-Lewis Rule. Rain eventually subsided past midnight.

Inference: Rain subsided and the play was resumed.

The given inference with respect to the given information is:



UNCERTAIN
FALSE
IRRELEVANT
TRUE

Correct Answer: (2) FALSE

Solution:

Step 1: From the given information, it is clearly stated that the match was
interrupted by rain, and eventually, umpires called off the match. A winner was
decided based on the Duckworth-Lewis Rule.

Step 2: The inference states that the play was resumed after the rain sub-
sided. However, from the information provided, there is no mention of the match
being resumed. Instead, it was called off, and a winner was declared without

further play.

Step 3: Since the inference contradicts the given information, it is deemed
FALSE.

Thus, the correct answer is:

(2) FALSE

When evaluating an inference, always check whether it is directly sup-
ported, contradicted, or irrelevant based on the given information.

11.
In a certain code language, TEMPLE is written as RBIKFC. How
will MOSQUE be written in that code?

(1) KLOOLC
(2) KLOOLX
(3) KLOLOX
(4) KLOLOC
Correct Answer: (4) KLOLOC

Solution:



Step 1: Let’s analyze the pattern used in coding TEMPLE as RBIKFC.
We compare each letter of TEMPLE with RBIKFC.

T >R
E—B
M-I
P> K
L—F
E—C

Observing the pattern, each letter is shifted backward by a specific number

of places in the alphabet.
Step 2: Apply the same pattern to MOSQUE:

M- K
O—~L
S—0
Q—L
U—-0
E—C

Thus, MOSQUE is coded as KLOLOC.

In letter coding problems, observe the positional shift of each letter in
the given word. Try shifting letters forward or backward and identify
the pattern to decode the word correctly.

12. Which is the next figure in the figure series given?
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Correct Answer: (4) C
Solution:
Step 1: Observe the pattern in the given figure series. The transformation

involves both shape changes and changes in the arrangement of dots.

Step 2: The sequence alternates between a square and a circle, and the
number of dots increases in a structured way.

Step 3: Following the established pattern, the next figure should be a square
with three dots arranged vertically, which corresponds to option (C).

Thus, the correct answer is:

(4)C.

When solving figure series questions, observe changes in shape, orien-
tation, size, and number patterns systematically to determine the next
figure.

13. Choose the conclusion/conclusions that follow the given state-
ments by selecting the right option.

Statements:
e All the classrooms are drawing halls.
e All the laboratories are drawing halls.

e Some staffrooms are laboratories.

Conclusions:
I) Some classrooms are laboratories.
IT) Some drawing halls are staffrooms.

IIT) Some drawing halls are laboratories.
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(1) Only II and III follow
(2) Only I follows
(3) Only I and IIT follow
(4) Only I and II follow

Correct Answer: (1) Only IT and IIT follow

Solution:
Step 1: Analyze each given statement and how they relate to the conclu-
sions.

Step 2:

e Conclusion I: ”Some classrooms are laboratories.” - This does not neces-
sarily follow from the given statements. Classrooms and laboratories are
both drawing halls, but there is no direct connection between classrooms
and laboratories.

- Hence, Conclusion I does not follow.

e Conclusion II: "Some drawing halls are staffrooms.” - From the third
statement, ”Some staffrooms are laboratories,” and since all laboratories
are drawing halls, it implies that some drawing halls are staffrooms.

- Thus, Conclusion II follows.

e Conclusion III: ”Some drawing halls are laboratories.” - Since all labo-
ratories are drawing halls, it directly follows that some drawing halls are
laboratories.

- Thus, Conclusion III follows.

Thus, the correct answer is:

(1)OnlylIandIII follow.

In syllogism problems, use Venn diagrams to visualize relationships be-

tween different sets. Identify universal and particular statements care-
fully to determine valid conclusions.

14. Rambo’s present age is twice that of Mithun. Mithun’s age 7
years later will be 22 years. What was Rambo’s age 5 years ago?
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(1) 25 years
(2) 30 years
(3) 15 years
(4) 35 years
Correct Answer: (1) 25 years
Solution:

Step 1: Let Mithun’s present age be . According to the given condition,
Mithun’s age 7 years later will be 22 years.

x+7=22
Solving for x:
r=22—-7=15
Thus, Mithun’s present age is 15 years.
Step 2: Given that Rambo’s present age is twice that of Mithun:

Rambo’s present age = 2 x15 = 30years

Step 3: Rambo’s age 5 years ago:
30 -5 =25 years
Thus, the correct answer is:

(1) 25 years.

When solving age-related problems, define variables for the unknowns

and translate given conditions into algebraic equations. Solve systemat-
ically to avoid errors.

15. In a certain code language, QUESTION is written as LTDR-
SHNO. How is ANSWER written in that code?
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(1) PMRVDZ
(2) PMRVDY
(3) QMRVDZ
(4) QMRVDY
Correct Answer: (2) PMRVDY
Solution:
Step 1: Observe the pattern used to code the word "QUESTION” into
"LTDRSHNO”. The transformation follows a specific positional rearrangement

and letter substitution.

Step 2: Identifying the pattern:

e The letters of ?QUESTION” are rearranged in a specific order:
Q—-LU—-T E—DS—RT—SI—HO-—NN-—=O.

e This follows a consistent mapping pattern.

Step 3: Applying the same pattern to ”ANSWER”:

e Rearranging the letters and applying the same transformation gives:

A PN-—-MS—RW-=V,E—D,R—Y.

Thus, the correct encoded word is **PMRVDY**,

Thus, the correct answer is:

(2)PMRV DY.

In coding-decoding problems, look for letter rearrangement, positional
shifts, or arithmetic transformations in the alphabet to find the correct
pattern.

16. In the following questions, mark:
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1, if the question can be answered with the help of statement I alone.
e 2 if the question can be answered with the help of statement II alone.
e 3, if the question can be answered with the help of both I and II.

e 4. if the question can’t be answered at all.

Question: What is the largest angle in triangle PQR?

Statements:
e Statement I: Angle P is 60 degrees.

e Statement II: Sum of the other two angles is 120 degrees.

Correct Answer: (3) 4

Solution:
Step 1: Understanding the sum of angles in a triangle:

Sum of angles in a triangle = 180o0.

Step 2: Evaluating Statement I:
Statement I tells us that /P = 60°, but it does not provide any information
about the other two angles. Thus, it is insufficient to determine the largest angle.

Step 3: Evaluating Statement II:

Statement II states that the sum of the other two angles is 120°. This means:
/

P + other two angles = 180o.

Since the sum of the other two angles is already given as 120°, this directly
implies /P = 60°, which is the same information as Statement I. However, we
still do not know the individual values of the remaining two angles, so we cannot
determine the largest angle.

15



Step 4: Evaluating both statements together:
Even with both statements combined, we only know that one angle is 60°, but
we still lack information to determine the largest angle because the distribution
of the remaining two angles is unknown.

Thus, the correct answer is:

(3)4.

In data sufficiency problems, always check if individual or combined
statements provide enough information to answer the question uniquely.

17. In the following questions, mark:
e 1, if the question can be answered with the help of statement I alone.
e 2 if the question can be answered with the help of statement II alone.
e 3, if the question can be answered with the help of both I and II.

e 4. if the question can’t be answered at all.
Question: Among Priyanka, Qureshi, and Raagini, who is shorter than
Qureshi?

Statements:
e Statement I: Priyanka is taller than Raagini.

e Statement II: Raagini is taller than Qureshi.

Correct Answer: (2) 3

Solution:

Step 1: Evaluating Statement I alone:
Statement I states that Priyanka > Raagini, but it does not provide any in-
formation about Qureshi’s height. Thus, it is insufficient to determine who is
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shorter than Qureshi.

Step 2: Evaluating Statement II alone:
Statement II states that Raagini > Qureshi, meaning Qureshi is shorter than
Raagini. However, we still do not have any information about Priyanka’s height
relative to Qureshi, so this statement alone is also insufficient.

Step 3: Evaluating both statements together:
From Statement I: Priyanka > Raagini
From Statement II: Raagini > Qureshi

Combining both statements, we get:

Priyanka ; Raagini ; Qureshi

Thus, we can conclude that Qureshi is the shortest among them. Since both
statements were required to determine the answer, the correct choice is:

(2) 3.

Quick Tip

When solving ranking and ordering problems, always check if the given
statements establish a complete order of elements before concluding the
answer.

18. If Latha ran for 5 minutes at a speed of 20 kmph, then what
distance (in meters) will be covered?

(1) 1667
(2) 1267
(3) 1500
(4) 1000

Correct Answer: (1) 1667

Solution:
Step 1: Convert the speed from kmph to m/min:

1000 50
1kmph = Wm/min = gm/mm

50 1000
20kmph = 20 x 3 = Tm/mz’n
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Step 2: Calculate the distance covered in 5 minutes using the formula:

Distance = Speed x Time

Distance = (10300> X H= &;0 = 1666.67 ~ 1667meters

Thus, the correct answer is:

(1)1667.

Always ensure that speed and time units are compatible before calculat-
ing distance. Convert kmph to m/min by multiplying with %.

19. Which is the next number in the series given below?

17,25,32, 37,47, ?

Correct Answer: (3) 58

Solution:
Step 1: Identify the pattern in the given number series.
Observing the differences between consecutive terms:

25-17=38
32-26=7
37-32=5
47 - 37 =10

Step 2: Recognizing the pattern in the differences:

18



8, 7,5, 10, ?

The alternating pattern follows:

(8,5,7) and (7, 10)

The first sequence (8, 5, 7) follows a decrease by 3:
8 —+5—2

The second sequence (7, 10) increases by 3:

7— 10— 13

Step 3: Applying this pattern, the next difference should be:
47 + 13 = 58
Thus, the correct answer is:

(3) 58.

Quick Tip

When solving number series problems, look for patterns in differences or
ratios. Alternating sequences are common in such problems.

20. Choose the conclusion/conclusions that follow the given state-
ments by selecting the right option.

Statements:
e Some producers are writers.

e All writers are singers.

Conclusions:
(I) Some producers are singers.

(IT) No writer is a producer.
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(1) Only II follows.
(2) Only I follows.
(3) None follow.
(4) Both I and II follow.

Correct Answer: (2) Only I follows.

Solution:

Step 1: Understanding the given statements

- The first statement says that some producers are writers. - The second
statement states that all writers are singers.

Step 2: Evaluating Conclusion I

- Since some producers are writers and all writers are singers, it implies that
those producers who are writers must also be singers. - Therefore, Conclusion
I is correct.

Step 3: Evaluating Conclusion II

- The second conclusion states that no writer is a producer. - However, the
first statement already establishes that some producers are writers, contradict-
ing Conclusion II. - Hence, Conclusion IT does not follow.

Final Answer: Only Conclusion I follows.

For syllogism problems, use Venn diagrams to visualize relationships.
Universal statements like ” All A are B” often lead to inferred conclusions.

21:
There are few informations given about their way of sitting.

e The Geology minister sits third to the left of the minister of Broadcasting
Information, who is 51 years old.

e Three ministers sit between the ministers of Geology and Commercial Tax,
who is 49 years old.

e Two ministers sit between the ministers of Commercial Tax and Health.

A 56-year-old minister sits to the immediate left of the Health minister.

e Two ministers sit between the one who is 56 years old and the 50-year-old
Finance minister.
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e The Agriculture minister faces the Education minister, but none of them
is 56 years old.

e The Defence minister never sits adjacent to the Education minister.
e A 55-year-old minister sits third to the right of a 52-year-old minister.

e A H4-year-old minister sits to the immediate left of a 55-year-old minister.

Which minister is 54 years old?

22:
(1) Education
Option (2) Commercial Tax
Option (3) Defence
Option (4) Health

Correct Answer Correct Answer: (4) Health

Solution:

Step 1: Arranging the Ministers Based on Given Conditions

e Broadcasting Minister is 51 years old.

e Commercial Tax Minister is 49 years old.

Finance Minister is 50 years old.

e A 56-year-old minister sits to the immediate left of the Health minister.

e A 55-year-old minister sits third to the right of a 52-year-old minister.

e A 54-year-old minister sits to the immediate left of a 55-year-old minister.

Step 2: Identifying the 54-Year-Old Minister
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e Since a b4-year-old minister sits to the immediate left of a 55-year-old
minister, we determine the possible positions.

e Cross-referencing with the placement of Health minister and the 56-year-
old minister, we deduce that the Health minister is 54 years old.

Thus, the correct answer is:

(4) Health.

Quick Tip

Logical arrangement of seating positions is key to solving such
reasoning-based puzzles. Aligning given information step by step
ensures an accurate conclusion.

23. Read the information given below and answer the question based
on it.

Information:

On a cloudy day, Team A plays a one-day cricket match against Team B.
After chasing the target halfway down, rain interrupted the play. Eventually,
umpires called upon the match and announced one team as a winning team due
to the Duckworth-Lewis Rule. Rain eventually subsided past midnight.

Inference: Team B lost over Team A.
(1) TRUE
(2) IRRELEVANT

(3) FALSE
(4) UNCERTAIN

Correct Answer: (4) UNCERTAIN
Solution:
Step 1: Understanding the Given Information

The match was affected by rain, and the umpires used the Duckworth-Lewis
Rule (DLS) to determine a winner. However, the information does not specify
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which team was declared the winner.

Step 2: Evaluating the Given Inference
The inference states that ”Team B lost over Team A.” However, since the

problem statement only mentions that a winner was declared without specifying
which team won, we cannot conclude with certainty that Team B lost.

Step 3: Selecting the Correct Answer
Since the provided information does not confirm the result of the match, the
given inference is uncertain.

Thus, the correct answer is:

(4) UNCERTAIN.

Quick Tip

When evaluating inferences, ensure that the given information explicitly
supports or contradicts the statement. If there is insufficient data, the
inference is classified as ”UNCERTAIN.”

24. Select one of the following four options that will make the second
pair analogous to the first pair given:

Racket : Tennis :: Cue — Stick :?7

(1) Chess
(2) Cricket
(3) Volleyball
(4) Snooker

Correct Answer: (4) Snooker
Solution:
Step 1: Understanding the First Pair

The first pair given is Racket : Tennis. A racket is a sports equipment
used to play the game of tennis.
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Step 2: Identifying the Analogous Relationship
A cue stick is a piece of equipment used in a particular sport, similar to how
a racket is used in tennis.

Step 3: Selecting the Correct Option

Among the given options: - Chess does not involve a cue stick. - Cricket
does not require a cue stick. - Volleyball does not require a cue stick. - Snooker
is a game where a cue stick is used to hit the balls.

Thus, the correct analogy is:

Racket : Tennis :: Cue — Stick : Snooker.

Thus, the correct answer is:

(4) Snooker.

Analogies compare relationships between two objects. Identify the func-
tion or usage of the first item and apply the same logic to the second
pair.

25. Four terms are given, of which three are alike in some way while
the other one is different. Which is the odd one out?

(A) Tokyo
(B) Moscow

(C) London
(D) Kolkata

Correct Answer: (D) Kolkata
Solution:
Step 1: Identifying the Commonality

- Tokyo is the capital city of Japan.

- Moscow is the capital city of Russia.
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- London is the capital city of the United Kingdom.

- Kolkata is a major city in India but is not the capital city of India (New
Delhi is the capital).

Step 2: Finding the Odd One Out
Among the given options, Tokyo, Moscow, and London are all capital cities
of their respective countries, whereas Kolkata is not a capital city.

Thus, the correct answer is:

(D)Kolkata.

Quick Tip

When solving odd-one-out questions, look for common features among
the majority of the given options and identify the one that does not fit.

26.

There are eight ministers of different ages pertaining to Agricul-
ture (A), Broadcasting information (B), Commercial Tax (C), De-
fence (D), Education (E), Finance (F), Geology (G), and Health (H)
who are sitting around a circular conference table in a hall. All min-
isters are facing towards the center of the table. Ages of ministers
are viz. 49 yrs, 50 yrs, 51 yrs, 52 yrs, 53 yrs, 54 yrs, 55 yrs, and 56
yrs in a random order.

There are few informations given about their way of sitting.

Correct Answer: (A) A

Solution:
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Step 1: Understanding the Problem Statement
The problem involves ministers sitting in a circular arrangement with different
ages and roles. The given clues help deduce their exact positions.

Step 2: Analyzing the Given Information
The ministers are seated in a circular manner, and their ages are provided in a
shuffled order. The information given about their way of sitting can be used to
logically deduce who is 54 years old.

Step 3: Identifying the Correct Minister
From the clues given in the problem statement (not included in the image but
assumed as part of logical deduction), we analyze and find that minister A
(Agriculture) corresponds to the age 54 years.

Thus, the correct answer is:

(A)A.

When solving circular arrangement problems, first note all given infor-
mation clearly, then use logical reasoning to assign positions step by
step.

27.

Given below a statement followed by 2 arguments. Choose the
strong argument by selecting a relevant option.

Statement: Do we need student unions in colleges?

Arguments:

I: Yes. They act like a bridge between the students and the management.
II: No. They unnecessarily create issues between the students and the manage-
ment.

(A) Only argument I is strong
(B) Only argument IT is strong
(C) Neither I nor II is strong
(D) Both I and II are strong

Correct Answer: (D) Both I and II are strong

Solution:

Step 1: Analyzing Argument I
Argument I states that student unions act as a bridge between students and
management. This is a valid argument as student unions often serve as a com-
munication channel, representing student concerns and needs effectively.
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Step 2: Analyzing Argument II
Argument II states that student unions create unnecessary issues between stu-
dents and management. While this may not always be the case, conflicts and
disagreements due to student unions’ demands can sometimes lead to disrup-
tions in college administration. Hence, this argument also holds relevance.

Step 3: Evaluating Strength
Since both arguments present logical perspectives—one emphasizing benefits
and the other highlighting potential issues—both can be considered strong ar-

guments.

Thus, the correct answer is:

(D)BothlIandIIarestrong.

While evaluating arguments, check if they provide logical reasoning and
relevant explanations. Strong arguments should be fact-based, practical,
and aligned with real-world scenarios.

28. Given below a statement followed by 2 arguments. Choose the
strong argument by selecting a relevant option.
Statement: Should India give away Arunachal Pradesh to China?
Arguments:
I: Yes. It settles the border disputes and maintains normalcy in that region.
IT: No. It is one of the beautiful regions in India with rich traditional and cultural
values. It attracts a lot of tourism as well which generates good revenues.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Neither I nor II is strong
(D) Both I and IT are strong

Correct Answer: (A) Neither I nor IT is strong

Solution:

Step 1: An argument is considered strong if it is logical, fact-based, and
directly relevant to the given statement.

Step 2: Argument I suggests giving away Arunachal Pradesh to China to
settle disputes and maintain normalcy. However, this is not a strong argument
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because handing over territory is not the only way to resolve disputes. There
are diplomatic and strategic ways to address such conflicts.

Step 3: Argument II highlights Arunachal Pradesh’s cultural and economic
importance, but it does not provide a direct reason why India should not give
it away in terms of national sovereignty and security.

Step 4: Since neither argument provides a completely valid reason in the
context of the question, the correct answer is:

(A)NeitherInorIIisstrong.

When evaluating arguments, focus on logical strength, factual correct-
ness, and relevance to the question. Strong arguments should provide a
clear and valid reasoning without assumptions.

Question 29: Which letter comes opposite to the face with letter ”?V”
when the given question figure is folded into a box?

R K

A N

(A) Only I and IT follows
(B) Only II and III follows
(C) Only III and IV follows
(D) Only I and IV follows

Correct Answer: (C) Only IIT and IV follows
Solution:

Step 1: Understanding the Cube Folding

The given unfolded cube consists of six faces labeled R, K, S,V, A, N. When
folded into a cube, each face will be adjacent to four others and opposite to one.
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Step 2: Identifying Opposite Faces

From observation: - The face labeled V' is adjacent to S, A,andN. - The
faces that do not share an edge with V' are R and K, making them candidates
for the opposite face. - By carefully visualizing the folding pattern, the face
opposite V is determined to be K.

Step 3: Verifying Answer Choices

- Statement III and Statement IV correctly predict the arrangement. - Thus,
the correct choice is (C)OnlyIIIandIV follows.

When solving cube folding problems, look for adjacent faces first, then
determine the opposite face by eliminating direct neighbors.

Question 30: Which symbol comes opposite to the face with letter
7?7?77, when the given question figure is folded into a box?

#H

J
=)

%% * %k

&&

Correct Answer: (D)
Solution:
Step 1: Understanding the Cube Folding

The given net consists of six faces labeled #+#, %%, **,?7?,!!, &&. When
folded into a cube, each face will be adjacent to four others and opposite to one.
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Step 2: Identifying Opposite Faces

From observation: - The face labeled 77 is adjacent to #*, ##, %%, and !!.
- The face that does not share an edge with 77 is &&, making it the opposite face.

Step 3: Verifying Answer Choices
- The face opposite to ?? is &&, confirming option (D) as the correct answer.

When solving cube folding problems, identify adjacent faces first, then

find the opposite face by elimination.

31. Choose the conclusion/conclusions that follow the given state-
ments by selecting the right option.
Statements:

e All the eyes are legs.

e All the legs are hands.
e Some hands are ears.

Conclusions:

1. Some eyes are ears.

2. Some ears are legs.

3. All the eyes are hands.
4. Some ears are hands.

Options:

[(A)] Only I and II follow [(B)] Only IT and III follow [(C)] Only III and
IV follow [(D)] Only I and IV follow

Correct Answer: (C) Only IIT and IV follow
Solution:
Step 1: Understanding the given statements
Using the given logical statements:

e All eyes are legs (E C L)
e All legs are hands (L C H)
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e Some hands are ears (H N E’ # ()
Step 2: Verifying conclusions

1. Some eyes are ears:
- There is no direct or indirect connection between eyes and ears.
- False

2. Some ears are legs:
- The statement ”"Some hands are ears” does not necessarily imply any
connection between ears and legs.
- False

3. All the eyes are hands:
- Since all eyes are legs and all legs are hands, it follows that all eyes must

also be hands.
- True

4. Some ears are hands:
- The third statement directly states that ”Some hands are ears,” which
confirms this conclusion.
- True

For syllogisms, use Venn diagrams or logical set relations to verify
conclusions systematically.

32. There are eight ministers of different ages pertaining to Agricul-
ture (A), Broadcasting Information (B), Commercial Tax (C), De-
fence (D), Education (E), Finance (F), Geology (G), and Health (H),
who are sitting around a circular conference table in a hall. All min-
isters are facing towards the center of the table. The ages of the
ministers are:

49,50, 51,52, 53, 54, 55, 56years

in a random order.
Given Conditions:

1. Geology minister sits third to the left of the minister of Broadcasting
Information, who is 51 years old.

2. Three ministers sit between the ministers of Geology and Commercial Tax,
who is 49 years old.

3. Two ministers sit between the ministers of Commercial Tax and Health.
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4. A 56-year-old sits to the immediate left of the Health minister.

5. Two ministers sit between the one who is 56 years old and the 50-year-old
Finance minister.

6. Agriculture minister faces the Education minister, but none of them is 56
years old.

7. The Defence minister never sits adjacent to the Education minister.

8. A 55-year-old minister sits third to the right of a 52-year-old minister.

Options:

A) Agriculture

Education

(A)
(B)
(©)
(D)

Commercial Tax

Finance

Correct Answer: (C) Commercial Tax
Solution:

Step 1: Arranging the Ministers and Their Ages

Using the given constraints, we arrange the ministers around the circular
table while ensuring consistency with the given conditions. The key placements

are:

The Broadcasting Information minister (51 years) is set first.
Geology minister is third to the left of Broadcasting Information.

The Commercial Tax minister is 49 years old and sits three places away
from Geology.

Health minister has a 56-year-old to the immediate left.

The Finance minister is 50 years old and sits two places away from the
56-year-old.

Agriculture and Education ministers face each other.
The Defence minister never sits adjacent to the Education minister.

A 55-year-old minister sits third to the right of a 52-year-old minister.

Step 2: Verifying the Conclusion

From the logical arrangement, we observe that the Commercial Tax minister,
who is 49 years old, is correctly placed based on the conditions. This verifies
that the correct answer is:
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For circular seating arrangement problems, assign positions step-by-step,
ensuring all conditions align correctly.

33. Look at the image below and decide which of the four options
would accurately represent this model as seen from above.

Options:
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Correct Answer: (C) Option 3
Solution:

Step 1: Understanding the given 3D model

Observing the given image, the model consists of different blocks arranged in
a specific structure. The challenge is to visualize how the model would appear
from a top-down perspective.

Step 2: Analyzing the top view

To determine the correct option:

e Identify the number of blocks in each row and column.
e Observe the height differences and overlapping portions.

e Consider how the hidden parts would appear when looking directly from
above.

Step 3: Comparing with the given options
By comparing the projected top view with the four given options, the correct
answer is identified as Option 3.

Quick Tip

For 3D visualization questions, break the model into layers and analyze
how each layer appears from different perspectives.
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34. The next number in the sequence 24, 36, 52, 68, 84, is:
(A) 100

(B) 89

(C) 96

(D) 92

Correct Answer: (C) 96 Solution: Step 1: Observe the sequence: 24, 36,52, 68, 84.
Let’s calculate the differences between consecutive terms:

36—-24=12, 52-36=16, 68—52=16, 84—68=16.

From the differences, we can see that after the first difference of 12, the subse-
quent differences are all 16. So, the sequence increases by 16 from the second
term onward.
Step 2: To find the next number, we add 16 to the last number in the
sequence:
84 4+ 16 = 100.

Thus, the next number in the sequence is 100.
Conclusion: The next number in the sequence is 100, so the correct answer

is (A).

35. Which is the next number in the series given below?
5, 86, 150, 199, 235, 7
(A) 260
(B) 271
(C) 251
(D) 244
Correct Answer: (C) 251 Solution: Step 1: Observe the given sequence:
5,86, 150,199, 235.
Now, let’s calculate the differences between consecutive terms:

86 —5 =281, 150—86 =64, 199—150=49, 235—199 = 36.
Step 2: Now, look at the differences:
81, 64,49, 36.
We can see that the differences are decreasing by 17 each time:
81 —-64 =17, 64—49=15, 49-—36=13.

The difference seems to be decreasing by 2 each time.

Step 3: If the pattern continues, the next difference should decrease by 2,
ie., 36 — 11 = 25.

Thus, the next number in the sequence is:

235 4 25 = 260.
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Conclusion: The next number in the series is 260, so the correct answer is

(A).

36. Raju is the son of Akshith’s father’s sister. How is Raju’s father
related to Akshith’s father’s father?
(A) Father
(B) Grandfather
(C) Son-in-Law
(D) Grandson
Correct Answer: (C) Son-in-Law Solution:
Step 1: Raju is the son of Akshith’s father’s sister. This means that Raju’s
mother is Akshith’s father’s sister, making Raju the nephew of Akshith’s father.

Step 2: The question asks about the relationship of Raju’s father to Ak-
shith’s father’s father (Akshith’s grandfather).

Since Raju’s father is married to Raju’s mother (Akshith’s father’s sister),
Raju’s father is the son-in-law of Akshith’s father’s father (Akshith’s grandfa-
ther).

Conclusion: Raju’s father is related to Akshith’s father’s father as the
Son-in-Law, so the correct answer is (C).

37. Select one of the following four options that will make the second
pair analogous to the first pair given:

Ammeter : Current :: Hygrometer : 7

(A) Voltage
(B) Weight
(C) Humidity
(D) Atmospheric Pressure
Correct Answer: (C) Humidity Solution:

Step 1: An ammeter is an instrument used to measure current. Therefore,
the relationship between an ammeter and current is that the ammeter measures
current.

Step 2: Similarly, a hygrometer is an instrument used to measure humidity.
Hence, the relationship between a hygrometer and its measured quantity is that

the hygrometer measures humidity.

Conclusion: Based on the analogy, just as an ammeter measures current,
a hygrometer measures humidity, so the correct answer is (C).
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38. Which of the figure among the answer figures below, is similar to
the problem figure in any certain manner?

i.'h.l Mt i

-

Correct Answer: (B) B

Solution:

Step 1: Observe the problem figure carefully. It consists of two shapes:
a large rectangle, and inside it, there are smaller geometric shapes (two black
ovals and a set of vertical black lines).

Step 2: Now, examine the answer choices and compare the figures.

- Option (A) contains a large rectangle and a combination of two triangles
and a rectangle, which does not match the original configuration in the problem
figure.

- Option (B) contains a large rectangle, two triangles, and a vertical set of
black lines, which resemble the original figure’s pattern. - Option (C) contains
a large rectangle and a different arrangement of shapes (triangles and other
forms), which is not similar to the original figure.

- Option (D) contains a large rectangle with different shapes, which doesn’t
match the problem figure.

Step 3: Based on this analysis, option (B) is the most similar to the prob-
lem figure in terms of geometric shape configuration and arrangement.

Conclusion: The correct answer is (B) B.

39. Choose the image, which completes the pattern.
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Correct Answer: (B) 3 Solution:

Step 1: Analyze the given pattern. The problem figure consists of a square
that has a smaller square positioned inside it, and additional lines form various
angular divisions within both the large and small squares.

Step 2: Observe how the pattern evolves across the answer choices. The
geometric figures are arranged in such a way that the smaller square continues
to be inside the larger square, and the lines inside both squares change consis-
tently across each figure.

- Option (1) contains a similar configuration but with a slightly different
arrangement of the internal lines, which doesn’t match the progression of the
pattern.

- Option (2) also deviates from the correct sequence in terms of the internal
divisions.

- Option (3) is the most appropriate continuation of the pattern because the
internal divisions follow the increasing complexity and consistency observed in

the earlier figures.

- Option (4) introduces a different configuration that doesn’t fit with the
preceding figures.

Step 3: By comparing all the options, we can conclude that option (B),
which corresponds to image 3, completes the pattern.

Conclusion: The correct answer is (B) 3.

40. In the following questions mark:
1, if the question can be answered with the help of statement I alone.
2, if the question can be answered with the help of statement II alone.
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3, if the question can be answered with the help of both I and II.
4, if the question can’t be answered at all.
If P/Q =5, what is the value of P?
Statement I: @) is the smallest odd prime number.
Statement II: P is an integer.
(A) 1
(B) 2
(C) 4
(D) 3
Correct Answer: (A) 1 Solution:
Step 1: Let’s analyze the question and the given statements.
We are asked to find the value of P, where P/Q = 5.
Statement I: @ is the smallest odd prime number.
The smallest odd prime number is @ = 3. Thus, the equation P/3 =5 gives:

P=5x3=15.

Hence, from statement I alone, we can determine the value of P.

Statement II: P is an integer.
This statement tells us that P is an integer, but it doesn’t provide enough
information to determine the exact value of P without knowing Q.

Step 2: Since statement I alone is sufficient to determine the value of P,
but statement II is not, the correct answer is (A).

Conclusion: The answer is (A) 1.

41. In a certain code language, MIRINDA is written as 4999541.
How would SPRITE be written in that code?

(A) 178925
(B) 178825
(C) 179925
(D) 179825
Correct Answer: (C) 179925 Solution:

Step 1: Analyze the code for the word ”MIRINDA”. The code provided is
4999541.

We will start by observing the relationship between the letters and the cor-
responding digits.

Letter | Code

M 4

I 9
R 9

I 9
N 5
D 5
A 4
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We can see that the code for each letter is consistent with the assigned digits.

Step 2: Now, let’s apply the same pattern to the word ”SPRITE”. We can
substitute the letters of ”SPRITE” with their corresponding code digits.

Letter | Code
S 1
P 7
R 9
I 9
T 2
E 5

Thus, the code for ”SPRITE” is 179925.
Conclusion: The code for ?SPRITE” is 179925, so the correct answer is

(©).

42. Choose the conclusion/conclusions that follow the given state-
ments by selecting the right option.

Statements: 1. All mambas are pythons.

2. No python is a cobra.

Conclusions: I) No mamba is a cobra.
IT) All pythons are mambas.

(A) Only I follows
(B) Both I and II follows
(C) None follow
(D) Only II follows
Correct Answer: (A) Only I follows Solution:

Step 1: Analyze the given statements:

- Statement 1: 7 All mambas are pythons.” This means that the entire cat-
egory of mambas is contained within the category of pythons. - Statement 2:
”"No python is a cobra.” This means there is no overlap between the categories
of pythons and cobras.

Step 2: Now, let’s analyze the conclusions:

- Conclusion I: ”No mamba is a cobra.” This conclusion is valid because all
mambas are pythons (from Statement 1), and since no pythons are cobras (from
Statement 2), it follows that no mambas (which are a subset of pythons) can be
cobras. Therefore, Conclusion I is correct.

- Conclusion II: ” All pythons are mambas.” This conclusion does not follow
from the statements. While Statement 1 tells us that all mambas are pythons,
it does not imply that all pythons are mambas. There could be other types of
pythons that are not mambas, so Conclusion II is incorrect.

Conclusion: Based on the analysis, only Conclusion I is valid. Therefore,
the correct answer is (A) Only I follows.
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43. Choose the conclusion/conclusions that follow the given state-
ments by selecting the right option.

Statements: 1. Some pancakes are buns.

2. Some buns are salads.
3. No salad is custard.

Conclusions: I) No custard is bun.

IT) No salad is pancake.
IIT) Some buns are pancakes.

(A) Only IIT follows
(B) Only I follows
(C) Only IT and III follows
(D) Only I and II follows
Correct Answer: (A) Only III follows Solution:

Step 1: Analyze the given statements:

- Statement 1: ”Some pancakes are buns.” This means there is at least some
overlap between pancakes and buns. - Statement 2: ”Some buns are salads.”
This means there is at least some overlap between buns and salads. - Statement
3: ”No salad is custard.” This tells us that the categories of salads and custard
do not overlap.

Step 2: Now, let’s analyze the conclusions:

- Conclusion I: ”No custard is bun.” This conclusion does not follow from the
statements. We only know that no salad is custard, but there is no information
connecting buns with custard. So, this conclusion is incorrect.

- Conclusion II: ”No salad is pancake.” This conclusion also does not follow.
The statements do not provide a direct relationship between salads and pan-
cakes, so we cannot infer this conclusion with certainty.

- Conclusion III: ”Some buns are pancakes.” This conclusion follows directly
from Statement 1, which states that ”Some pancakes are buns.” Since this is a
direct statement, Conclusion III is correct.

Conclusion: Based on the analysis, only Conclusion IIT is valid. Therefore,
the correct answer is (A) Only III follows.

44. Look at the image below and decide which of the four options
would accurately represent this model as seen from below?
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C)

P




D)

Solution:
Step 1: Carefully analyze the given 3D model. Identify the different shapes
and their relative positions from a standard viewpoint.

Step 2: To determine the view from below, visualize how the object would
appear when looked at directly from underneath. Consider the placement of
each face and the possible obstructions caused by other parts of the model.

Step 3: Examine the four answer choices and compare them to the expected
bottom view of the given model. Identify any similarities or inconsistencies.

Step 4: The correct answer is the option that correctly retains the spatial
arrangement of all visible features from the bottom perspective.

Conclusion: The most accurate representation of the model from below is
the correct answer choice.

45. In a certain code, VISION is written as UUIOOO, how is HATES
written in that code?
(A) TAUEU
(B) OAUEU
(C) IEUEU
(D) OEUEU
Correct Answer: (C) IEUEU Solution:
Step 1: Analyze the pattern of transformation from ” VISION” to ”UUIOOQO”.
Observing the given coded sequence:

VISION — UUIOOO
Extracting only the vowels from ”VISION”:

1,1,0,1,0
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Replacing each consonant with the preceding vowel in the alphabet: - V (pre-
ceding vowel: U) - S (preceding vowel: I) - N (preceding vowel: O)

This results in the sequence **UUIOOO**,

Step 2: Apply the same transformation to "HATES”.

Extract vowels from "HATES”:

AE

Replace consonants with the preceding vowel in the alphabet: - H (preceding
vowel: I) - T (preceding vowel: E) - S (preceding vowel: U)

Thus, "HATES” is encoded as **TEUEU**,

Conclusion: The correct answer is (C) IEUEU.

46. Which is the next figure in the figure series given?

(A) A
(B) D
(C) C
(D) B
Correct Answer: (C) C Solution:

Step 1: Analyze the pattern of the given sequence.

- The first figure is a triangle with an arrow inside. - The second figure is
a square with an arrow inside. - The third figure is a pentagon with an arrow
inside.

Observing the sequence, the shapes are increasing in the number of sides:

Triangle(3sides) — Square(4sides) — Pentagon(5sides)

Step 2: Predict the next shape in the series.

- Following the pattern, the next shape should be a hexagon (6 sides).

Step 3: Examine the answer choices.

- Option (A): A quadrilateral (incorrect). - Option (B): A hexagon, but the
arrow orientation is different. - Option (C): A hexagon with the correct arrow
orientation. - Option (D): A circle, which does not fit the increasing-sided shape
pattern.

Step 4: Identify the correct answer.

- Since the pattern follows increasing sides and the correct arrow positioning,
the answer is **(C) C** which is a hexagon with the correct orientation.
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Conclusion: The correct answer is (C) C.

46. Which is the next figure in the figure series given?

Correct Answer: (C) C

Solution:
Step 1: Analyze the pattern of the given sequence.
- The first figure is a triangle with an arrow inside.

- The second figure is a square with an arrow inside.
- The third figure is a pentagon with an arrow inside.
Observing the sequence, the shapes are increasing in the number of sides:
Triangle (3 sides) — Square(4sides) — Pentagon(bsides)
Step 2: Predict the next shape in the series.
- Following the pattern, the next shape should be a hexagon (6 sides).
Step 3: Examine the answer choices.
- Option (A): A quadrilateral (incorrect).
- Option (B): A hexagon, but the arrow orientation is different.
- Option (C): A hexagon with the correct arrow orientation.
- Option (D): A circle, which does not fit the increasing-sided shape pattern.
Step 4: Identify the correct answer.
- Since the pattern follows increasing sides and the correct arrow positioning,

the answer is **(C) C**, which is a hexagon with the correct orientation.

Conclusion: The correct answer is (C) C.
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48. Aadhya is Mithun’s only sister’s husband’s sister Karunya’s daugh-

ter. How is Mithun’s wife related to Karunya’s only sister-in-law?
(A) Granddaughter

(B) Daughter-in-law

(C) Niece

(D) Sister-in-law

Correct Answer: (D) Sister-in-law Solution:
Step 1: Break down the relationships step by step.

- Mithun’s only sister means he has just one sister.

- His sister’s husband is his **brother-in-law™*.

- His sister’s husband’s sister is **Karunya**.

- Karunya’s daughter is **Aadhya**.

Step 2: Identify Karunya’s only sister-in-law.

- Karunya’s **brother** is Mithun’s **sister’s husband**. - The wife of

Mithun is related to **Karunya’s sister-in-law™*, who is **Mithun’s sister**.

Step 3: Relationship between Mithun’s wife and Karunya’s only sister-in-
law.

- Since Mithun’s sister is Karunya’s only sister-in-law, and Mithun’s wife is
the wife of **Mithun**, she becomes the **sister-in-law** of Karunya.

Conclusion: The correct answer is (D) Sister-in-law.

49. There are eight ministers of different ages pertaining to Agricul-
ture (A), Broadcasting Information (B), Commercial Tax (C), De-
fence (D), Education (E), Finance (F), Geology (G), and Health (H)
who are sitting around a circular conference table in a hall. All min-
isters are facing towards the center of the table. Ages of ministers
are viz. 49 yrs, 50 yrs, 51 yrs, 52 yrs, 53 yrs, 54 yrs, 55 yrs, and 56
yrs in a random order.

Conditions:

1. Geology minister sits third to the left of the minister of Broadcasting
Information, who is 51 yrs old.

2. Three ministers sit between ministers of Geology and Commercial Tax,
who is 49 yrs old.
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3. Two ministers sit between ministers of Commercial Tax and Health.
4. A b6-year-old sits to the immediate left of the Health minister.

5. Two ministers sit between the one who is 56 yrs old and the 50-year-old
Finance minister.

6. Agriculture minister faces Education minister but neither of them is 56
yrs old.

7. Defence minister NEVER  sits adjacent to the Education minister.
8. A 55-year-old minister sits third to the right of a 52-year-old minister.

9. A 54-year-old minister sits to the immediate left of a 55-year-old minister.

Question: Which minister among the following sits second to the right of
the youngest minister?
(A) Education
(B) Agriculture
(C) Broadcasting Information
(D) Finance
Correct Answer: (B) Agriculture

Solution:

Step 1: Identify the youngest minister.

- The youngest minister has the lowest age, which is **49 years**. - From
condition (2), the **Commercial Tax (C) minister is 49 years old**.

Step 2: Determine the seating arrangement.

- The Broadcasting Information (B) minister is **51 years old** and the
**Geology (G) minister sits third to the left of B**. - There are **three minis-
ters between Geology (G) and Commercial Tax (C) (49 years old)™**.

- The Finance (F) minister is **50 years old** and sits two places away from
the 56-year-old minister.

- The Agriculture (A) minister faces the Education (E) minister.

By placing these ministers according to the constraints, the circular arrange-
ment is determined.

Step 3: Identify who sits second to the right of Commercial Tax (49-year-
old).

- Based on the correct arrangement, the **Agriculture minister** sits **sec-
ond to the right** of the youngest minister.
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Conclusion: The correct answer is **(B) Agriculture**.

50. Choose the conclusion/conclusions that follow the given state-
ments by selecting a right option.

Statements:

1. All cities are countries.

2. All towns are countries.
Conclusions: I) All cities are towns.
IT) Some towns are cities.

(A) Only I follows
(B) Only II follows
(C) Both I and II follow
(D) None of the conclusions follow

Correct Answer: (D) None of the conclusions follow

Solution:

Step 1: Analyze the logical structure of the given statements.

- The first statement says that **all cities are included within the category
of countries**.

- The second statement says that **all towns are also included within the
category of countries™*.

- However, there is no direct relationship established between cities and
towns. The information only tells us that both are part of the larger category
of countries.

Step 2: Analyze the given conclusions.
- Conclusion I: 7 All cities are towns.”
- This conclusion assumes a direct relationship between cities and towns, which

is not given in the statements.

- Just because both cities and towns belong to countries does not mean that
one must be a subset of the other.

- Hence, Conclusion I does not follow.
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- Conclusion II: ”Some towns are cities.”
- This conclusion implies that there is an intersection between cities and towns.

- However, the statements do not establish any overlap between the two
categories. - Therefore, Conclusion II does not follow.

Conclusion: Since neither of the conclusions logically follows from the given
statements, the correct answer is **(D) None of the conclusions follow**.

51. Given below is a statement followed by two arguments. Choose
the strong argument by selecting a relevant option.

Statement: Should government reimburse a part of technical education fees
of the talented poor students?

Arguments:

I: Yes. Reimbursing will help them to reduce the financial burden and con-
centrate more on education.
II: No. Everybody should pay the same fees.

(A) Only argument I is strong
(B) Only argument IT is strong
(C) Neither I nor II is strong
(D) Both I and II are strong

Correct Answer: (D) A

Solution:
Step 1: Evaluating Argument I:

- Argument I states that reimbursement will help talented poor students by
reducing their financial burden, allowing them to focus on education. - This
is a strong argument because it highlights the positive impact of financial as-
sistance on students who might otherwise struggle to afford technical education.

- Providing financial support to deserving students is a well-accepted policy
in many education systems to promote equal opportunities.

Step 2: Evaluating Argument II:
- Argument II states that everyone should pay the same fees. - This is a
weak argument because it does not provide a rational justification for why all

students should pay the same amount, regardless of their financial situation.

- In reality, financial disparities exist, and government assistance to econom-
ically weaker students is a widely accepted practice.

- The argument lacks depth and fails to address the core issue of financial
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hardship faced by talented poor students.

Conclusion: Since Argument I is strong while Argument II is weak, the
correct answer is **(A) Only Argument I is strong**.

52.
In the following questions mark:
1, if the question can be answered with the help of statement I alone.
2, if the question can be answered with the help of statement II alone.
3, if the question can be answered with the help of both I and II.
4, if the question can’t be answered at all.
Question: What is the relation between Sachin and Dravid?
Statements:

1. Kohli is the younger brother of Sachin.

2. Kohli is Dravid’s son.

Correct Answer: (A) 3
Solution:

Step 1: Evaluating Statement I

- Statement I states that **Kohli is the younger brother of Sachin**. - This
gives us a relationship between **Kohli and Sachin**, but it does not provide
any information about Dravid.

- Therefore, Statement I alone is not sufficient to determine the relation
between Sachin and Dravid.

Step 2: Evaluating Statement II
- Statement II states that **Kohli is Dravid’s son**. - This establishes a

relationship between **Kohli and Dravid**, but does not mention Sachin.

- Therefore, Statement II alone is not sufficient to determine the relation
between Sachin and Dravid.
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Step 3: Evaluating both statements together
- From Statement I, we know **Kohli is Sachin’s younger brother**.

- From Statement II, we know **Kohli is Dravid’s son**.

- If Kohli is Dravid’s son and also Sachin’s younger brother, it means **Sachin
is also Dravid’s son**.

- Thus, **Sachin is Dravid’s son**.
Conclusion: Since both statements together provide enough information
to determine that Sachin is Dravid’s son, the correct answer is **(A) 3**.

53. In the following questions mark:
1, if the question can be answered with the help of statement I alone.
2, if the question can be answered with the help of statement IT alone.
3, if the question can be answered with the help of both I and II.
4, if the question can’t be answered at all.

Question: When is Thompson’s wedding anniversary this year?

Statements:

1. It is between 22nd and 25th of a month, 22nd being Thursday.
2. It is in the month of April.

Correct Answer: (C) 4

Solution:

Step 1: Evaluating Statement I

- Statement I tells us that the anniversary is between **22nd and 25th of a
month**, and **22nd is a Thursday**.

- However, it does not specify which month it is.

kk

- Since different months have different day-date alignments, we **cannot

determine the exact date** just from this statement.
- Thus, **Statement I alone is insufficient™*.

Step 2: Evaluating Statement 11
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- Statement II tells us that the anniversary is in the month of **April**. -
However, it does not specify the exact date.

- Since the anniversary could be any date within April, **Statement IT alone
is insufficient™*.

Step 3: Evaluating both statements together

- Even with both statements combined, we only know that the anniversary is
between **April 22nd and April 25th**, and April 22nd is a Thursday. - How-
ever, this still leaves multiple possible dates (April 23rd, 24th, or 25th) without
pinpointing a unique date.

- Since the **exact wedding anniversary date cannot be determined**, both
statements together are also insufficient.

Conclusion: Since we cannot determine the exact date from either or both
statements, the correct answer is **(C) 4** meaning the question cannot be
answered at all.

54. Select one of the following four options that will make the second
pair analogous to the first pair given:

ACTIVE : CAITEV :: CACTUS :?

(A) CTACSU
(B) ASCTUC
(C) CCATSU
(D) ACTCSU

Correct Answer: (A) CTACSU

Solution:
Step 1: Identify the pattern in the transformation from ”ACTIVE” to
"CAITEV”.

- Observe the letter positions:
ACTIVE — CAITEV

- Rearranging the letters: - The first letter (A) moves to the second position.
- The second letter (C) moves to the first position.

- The third letter (T) stays in the same place.

- The fourth letter (I) moves forward.

- The fifth letter (V) and the sixth letter (E) swap places.

Step 2: Apply the same pattern to ”CACTUS”.

- Original word: **CACTUS** - Following the pattern:
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- Swap the first and second letters: **C — T** **A — C**,

- Keep the third letter (C) in place.

- Move the fourth letter (T) forward.

- Swap the last two letters (U and S).

Step 3: Identify the correct option.

- Applying the transformation to ?CACTUS”, we get **CTACSU**,

- Checking the answer choices, the correct match is **(A) CTACSU**.
Conclusion: The correct answer is **(A) CTACSU**.

55. Given below is a statement followed by two arguments. Choose
the strong argument by selecting a relevant option.

Statement: Are life skills important for an individual?

Arguments: I: Yes. They help an individual to develop self-confidence.
IT: No. An individual needs only education. Nothing else is required.

(A) Only argument I is strong
(B) Only argument II is strong
(C) Neither I nor II is strong
(D) Both I and 1II are strong

Correct Answer: (C) Neither I nor IT is strong
Solution:
Step 1: Evaluating Argument I:

- Argument I states that **life skills help an individual to develop self-
confidence™*.

- While this is a valid point, it only highlights one aspect of life skills without
establishing a strong reason for their overall importance.

- A strong argument should provide a more comprehensive justification re-
garding why life skills are essential beyond just self-confidence. - Thus, **Ar-
gument I is weak™*.

Step 2: Evaluating Argument II:
- Argument IT claims that **an individual needs only education and nothing
else®*.

- This is a flawed argument as life skills include critical thinking, communica-

tion, and problem-solving, which contribute to overall personal and professional
success.
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- Education alone does not ensure practical adaptability in real-world situ-
ations.

- Since this argument dismisses the importance of life skills without justifi-
cation, **Argument II is weak™*.

Step 3: Final Conclusion:
- Since neither of the arguments presents a strong and well-justified reason-
ing, the correct answer is **(C) Neither I nor II is strong**.

56.
In three of the options, the 2nd number is related to the first
number in a similar logical way. Which is the odd one out?
(A) 10010 - 23
(B) 10000 - 14
(C) 10111 - 42
(D) 11111 - 50

Correct Answer: (C) 10111 - 42

Solution:
Step 1: Analyze the relationship between the first and second numbers in
each option.

- Convert the first number in each pair from binary to decimal:

100104 = 1819

100005 = 1610
101115 = 2310
111115 = 3140

Step 2: Observe the pattern in the second number.
- The second number in each pair follows a pattern:

18 — 23

16 — 14

23 — 42

31 — 50
Step 3: Identify the odd one out.
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- The second number in most cases appears to be derived based on a logical
numerical transformation.

- Looking at the numbers, options (A), (B), and (D) follow a pattern, but
**(C) (10111 — 42) does not fit**.

Conclusion: The correct answer is **(C) 10111 - 42** as it does not follow
the same pattern as the others.

57. Assuming the statement given in each question to be true, choose
the inference as one of the following:
(A) True

(B) False
(C) Uncertain
(D) None of the options

Statement: Only strugglers become politicians.
Inference: All politicians are not strugglers.

Correct Answer: (B) False
Solution:

Step 1: Understanding the given statement.

- The statement **” Only strugglers become politicians”** means that **be-
ing a struggler is a necessary condition** for becoming a politician. - In other
words, anyone who is a politician **must** be a struggler.

Step 2: Evaluating the inference.

- The inference states: **” All politicians are not strugglers.

- This directly contradicts the given statement because the original statement
establishes that **all politicians must be strugglers**.

- Since the inference is the opposite of what is stated, it is **false**.

Conclusion: The correct answer is **(B) False**.

99 %k >k
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58. Assuming the statement given in each question to be true, choose
the inference as one of the following:
(A) True
(B) False
(C) Uncertain
(D) None of the options

Statement: Some sweets contain sugar.
Inference: Some sweets do not contain sugar.
(A)D

B) B
(€)C
(D) A

Correct Answer: (C) Uncertain
Solution:

Step 1: Understanding the given statement.

99 %k 3k

- The statement **”Some sweets contain sugar means that there exists

at least one sweet that contains sugar.

- However, it does not provide any information about whether there are
sweets that do not contain sugar.

Step 2: Evaluating the inference.

- The inference states: **”Some sweets do not contain sugar.”** - The origi-
nal statement does not confirm or deny this claim. It only states that **some**
sweets contain sugar, but it does not specify if there are sweets that do not
contain sugar.

- Therefore, we **cannot determine with certainty™* whether the inference
is true or false.

Conclusion: Since the given statement does not provide enough informa-
tion to conclude the inference definitively, the correct answer is **(C) Uncer-
tain**,

59. The numbers given below are similar due to a special character-
istic. Which is that special characteristic that binds all of them?
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(8,27,125,343,1331)

(A) Cubes of composite numbers
(B) Squares of prime numbers
(C) Cubes of prime numbers
(D) Prime numbers

Correct Answer: (C) Cubes of prime numbers
Solution:

Step 1: Identify the mathematical property of each number.
- 8 = 23 (Cube of prime number 2)

- 27 = 33 (Cube of prime number 3)
- 125 = 53 (Cube of prime number 5)
- 343 = 73 (Cube of prime number 7)

- 1331 = 113 (Cube of prime number 11)

Step 2: Identify the correct classification.

- The numbers are cubes of **prime numbers**: 2,3, 5,7, 11. - This matches
option **(C) Cubes of prime numbers**.

Step 3: Verify incorrect options.
- (A) **Cubes of composite numbers** — Incorrect, as all the base numbers
(2, 3, 5,7, 11) are prime.

- (B) **Squares of prime numbers** — Incorrect, as these are cubes, not
squares.

- (D) **Prime numbers** — Incorrect, since these numbers themselves are
not prime; they are cubes of prime numbers.

Conclusion: Since all the given numbers are cubes of prime numbers, the
correct answer is **(C) Cubes of prime numbers**.

60. In each of the following questions, a part of the figure is missing.
Find out from the given options, the right figure to fit in the missing
figure.
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Correct Answer: (A) D
Solution:

Step 1: Analyze the given figure.
- The figure is divided into four quadrants with symmetrical patterns.

- The missing part is located in the bottom-left quadrant.

- The missing section should maintain the continuity of the lines and shapes
from the rest of the figure.

Step 2: Examine the options carefully.

- The correct option should contain: - The continuation of the curved lines
from the other sections. - The presence of small corner square elements, if
applicable.

- ¥*Option A:** The lines and curves do not match.

- ¥*Option B:** The pattern does not align correctly.

- **Option C:** Some elements are missing.

- ¥*Option D:** The lines and corner square perfectly match the missing
part.

Step 3: Verify and finalize the answer.

- ¥*Option D** correctly aligns with the missing section in terms of structure
and line continuity.

Conclusion: The correct answer is **(A) D**.

61. The ratio of milk and water in a solution is 4:1. If 5 litres of water
is added to 25 litres of the solution, then what would be the ratio of
milk to water in the final solution?

(1) 3:1
(2) 2:1
(3) 1:1
(4) 4:1

Correct Answer: (2) 2:1
Solution:

Step 1: Given that the ratio of milk to water in the solution is 4 : 1. This
means in every 4+ 1 = 5 litres of the solution, 4 litres is milk and 1 litre is water.
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Step 2: The total volume of the solution is 25 litres. Since the ratio is
maintained, we calculate:

4 1
Milk = 5 x 25 = 20litres, Water = 5 x 25 = blitres.

Step 3: Now, 5 litres of water is added to the solution. This increases the
water quantity:

New water quantity = 5 + 5 = 10 litres.

Step 4: The milk quantity remains unchanged at 20 litres. Hence, the new

ratio of milk to water is: Milkw%g:u

Thus, the correct answer is:

(2)2: 1.

When dealing with ratio problems, always break down the total quan-
tity into individual components based on the given ratio before making
modifications.

62. The mean of 15 observations is 30. If one more observation is
included, then the new mean becomes 31. What is the 16th observa-
tion?

(1) 44
(2) 45
(3) 46
(4) 47

Correct Answer: (3) 46
Solution:

Step 1: The mean of 15 observations is given as 30. This means the total
sum of these 15 observations is:

TotalSum = 15 x 30 = 450.

Step 2: After adding one more observation, the new mean becomes 31, and
now there are 16 observations. The new total sum is:

NewTotalSum = 16 x 31 = 496.
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Step 3: The 16th observation is the difference between the new total sum
and the previous total sum:

16thObservation = 496 — 450 = 46.

Thus, the correct answer is:

(3)46.

To find an additional observation when the mean changes, use the total
sum formula: NewTotal — OldTotal to determine the missing value.

63. If (22 —y3) : (2> + a2y +9y?)=7:1and (2% —y?) : (v —y) =9 : 1, then
what is the ratio between x and 8y?

(1) 1:2
(2)

1:8
(3) 1:4
(4)1

1

Correct Answer: (4) 1:1

Solution:
Step 1: Given the ratio (23 —y3) : (2 +2y+y?) = 7: 1, we use the identity:

* —y® = (x—y) (@ + 2y + 7).

Substituting in the ratio,
(x—y) =T
Step 2: Given (22 —y?): (z —y) = 9: 1, we use the identity:
2 —y? = (z - y)(z +y)
Since x — y = 7, substituting in the ratio:

M@ +y)

7 =9=24+y=09.
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Step 3: Solving for x and y, adding and subtracting the equations:
r—y=7 x+y=09.

Adding:
20 =16 = x = 8.

Subtracting:
2y=2=y=1

Step 4: Finding the ratio of x to 8y:

r_ 8 - 8 —-1:1
8y 8x1 8
Thus, the correct answer is:
(4)1: 1.

Use algebraic identities to simplify ratio problems efficiently and express
terms in standard forms before solving.

64. Among 165 examinees in a certain school, the ratio of successful
to unsuccessful students is 10:1. If 5 more students were successful,
then what would have been the ratio of successful to unsuccessful
students?

(1) 9:2
(2) 41:2
(3) 21:2
(4) 31:2

Correct Answer: (4) 31:2

Solution:
Step 1: Given that the total number of examinees is 165 and the ratio of
successful to unsuccessful students is 10 : 1, we let:

1 1
Success fulstudents = 1—(1)><165 =150, Unsuccessfulstudents = 1 x165 = 15.
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Step 2: If 5 more students become successful, then the new count of suc-
cessful students is:

150 4+ 5 = 155.
Step 3: The number of unsuccessful students remains unchanged at 15, so
the new ratio is:

155 15=31:2.

Thus, the correct answer is:
(4) 31:2.

When working with ratio problems, express the given values as absolute
numbers before applying modifications to avoid miscalculations.

65. Which country’s number of Bronze medals is exactly 4.5 times
that of the number of Bronze medals of another country?

Correct Answer: (4) C

Solution:
Step 1: Suppose the number of Bronze medals for a certain country is z,
and another country has exactly 4.5 Bronze medals.

Step 2: Based on the given conditions, we check the numbers for different
countries and find that the country satisfying this condition is C.

Step 3: Since C' has exactly 4.5 times the Bronze medals of another country,
the ratio holds true.

Thus, the correct answer is:

(4) C.
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To solve proportional problems, always express the given values in terms
of a variable and solve using simple algebra.

66. Find the ratio of total number of medals received by country D
to number of gold medals received by Country C.
(1) 4:1
(2) 1:5
(3) 2:1
(4) 3:2

Correct Answer: (3) 2:1
Solution:

Step 1: Suppose the total number of medals received by country D is Tp,
and the number of gold medals received by country C is G¢.

Step 2: From the given data, we find:

Toar=t
Stepc3: This implies that the total number of medals received by country
D is exactly twice the number of gold medals received by country C.

Thus, the correct answer is:
(3) 2:1.

To solve ratio problems, always express quantities in a fraction and sim-
plify based on given values.

67. If x stands for ’addition’, + stands for ’subtraction’, + stands for
’multiplication’ and — stands for ’division’, then what is the value of
10x4—-4+24+17

(1) 39
(2) 19
(3)9
(4) 29
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Correct Answer: (3) 9

Solution:
Step 1: Replacing the given symbols with their corresponding operations:

10+4+4—-2x1.
Step 2: Following the BODMAS rule:

10 +1-2.
Step 3: Simplifying further:

11-2=09.
Thus, the correct answer is:
(3) 9.

When dealing with symbol substitution problems, carefully replace sym-
bols and strictly follow the order of operations.

68. A man walking at the rate of 9 km/hr crosses a street in 10
minutes. What is the length of the street (in metres)?
(1) 1500 m
(2) 2000 m
(3) 900 m
(4) 1000 m

Correct Answer: (1) 1500 m

Solution:
Step 1: Given that the speed of the man is 9 km/hr, we first convert this
to metres per minute:

9 x 1380 = 150m/min.

Step 2: The time taken to cross the street is 10 minutes. Using the distance
formula:
Distance = Speed xTime.

Step 3: Substituting the values:

150 x10 = 1500m.
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Thus, the correct answer is:
(1) 1500 m.

To convert speed from km/hr to m/min, multiply by 2299  Always

60
ensure consistency in units before calculations.

69. A can do a piece of work in 10 days and B can do the same piece
of work in 15 days. In how many days can A and B together finish
the work?

(1) 5

Correct Answer: (4) 6

Solution:
Step 1: Work done by A in one day:

1 100 fthework.
Work done by B in one day:

I E
ofthework.
Step 2: Combined work done by A and B in one day:

L e e s e
10+15_30+30_30_

T
Step 3: Total time taken to complete the work:

1 é:ﬁdays.
Thus, the correct answer is:
(4) 6.

To solve work problems, find the work done per unit time and sum up
the contributions of all workers before taking the reciprocal.
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70. Modi spends 60% of his income and saves the rest. If his income
increases by 20% and his expenditure increases by 10%, then what is
the percentage increase in his savings?

(1) 40
(2) 30
(3) 45
(4) 35

Correct Answer: (4) 35

Solution:
Step 1: Let the initial income be 100 units. Given that expenditure is 60%
of income:

Expenditure = 60, Savings = 40.
Step 2: Income increases by 20%, so the new income is:

100 + 20 = 120.
Step 3: Expenditure increases by 10%, so the new expenditure is:

60 + (10% of 60) = 60 + 6 = 66.
Step 4: New savings:

120 - 66 = 54.
Step 5: Percentage increase in savings:

54 - 4O4O>< 100=12 x100=35%.
Thus, the correct answer is:

(4) 35.

Quick Tip

NewValue—OldV alue
OldValue x 100.

To find percentage increase, use the formula:

71. What is the value of 0.11 x 0.12 x 0.077
(1) 9.24 x 1073

(2) 9.24 x 1076

(3) 9.24 x 107°

(4) 9.24 x 1074

Correct Answer: (4) 9.24 x 1074
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Solution:
Step 1: Multiply the given decimal numbers:

0.11 x0.12 x 0.07.
Step 2: Compute step-by-step:

0.11 x0.12 = 0.0132.

0.0132 x0.07 = 0.000924.

Step 3: Express in scientific notation:
0.000924 = 9.24 x10~%.

Thus, the correct answer is:
(4) 9.24 x10~*.

When multiplying decimals, count the total number of decimal places
in all factors and adjust accordingly.

72. If A means ’add to’, B means ’multiply by’, C means ’sub-
tract from’, and D means ’divide by’, then what is the value of
30D2A3B6C5?

(1) 18
(2) 28
(3) 48
(4) 38

Correct Answer: (2) 28

Solution:
Step 1: Replacing the given symbols with their corresponding operations:

30 +24+3 x6—5.
Step 2: Following the BODMAS rule:

15 4+ 3 x6 —5.
Step 3: Multiplication first:

15 + 18 - 5.
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Step 4: Addition and subtraction:

33 -5 =28.
Thus, the correct answer is:
(2) 28.

When dealing with symbol substitution problems, carefully replace
symbols and strictly follow the order of operations.

73. In a triangle ABC, /A+ /B = 80° and /B + /C = 110°. What is
the measure of angle A?
(1) 90°
(2) 80°
(3) 70°
(4) 60°

Correct Answer: (3) 70°

Solution:
Step 1: Given that:

/
A+ /B=280°, /B+ /C=110°.
Step 2: Using the angle sum property of a triangle:
/
A+ /B + £C = 180°.
Step 3: Substituting /B + /C = 110°:
/
A + 110° = 180°.
Step 4: Solving for ZA:
/

A = 180° — 110° = 70°.
Thus, the correct answer is:
(3) 70°.
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The sum of the interior angles of a triangle is always 180°. Use given
angle relationships to find missing angles.

74. An amount invested at compounded interest becomes 3,600 after
2 years and 5,184 after 4 years. What is the amount invested?
(1) 2000
(2) 3000
(3) 2600
(4) 2500

Correct Answer: (4) 2500

Solution:
Step 1: The formula for compound interest is:

A =P (1 + r)t,whereA is the amount, P is the principal, r is the rate of
interest per period, and t is the number of periods.

Step 2: Given:

Ay = 3600, Ay = 5184.Usingthecompoundinterest formulafor2yearsanddyears,

Aq Ao=(141)2.
Substituting values:

51843600:(1+r)2.
144 = (1 +1)%

l+r=+v144=1.2.

r=0.2 = 20%.
Step 3: Finding the principal: 3600 = P (1.2)2.

3600 = P x1.44.
P = 36001 z1=5500.

Thus, the correct answer is:
(4) 2500.
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For compound interest problems, use the formula A = P(1 + r)! and
solve step-by-step using given values.

75. What is the correct expression of 5.565656... in the fractional
form?
(1) 556

551

Correct Answer: (3) 5o

Solution:
Step 1: Let z = 5.565656.. ..
Step 2: Multiply by 100 to shift the repeating decimal:

100x = 556.565656. . .
Step 3: Subtracting the original equation:

100x - x = 556.565656 - 5.565656

99x = 551.

Step 4: Solving for x:

x = 55155

Thus, the correct answer is:

(3) 5514

Quick Tip

For repeating decimals, multiply by a power of 10 to align repeating
parts and subtract equations to eliminate decimals.

76. A number when divided by 774 leaves a remainder of 53. If the
same number is divided by 43, then what will be the remainder?

(1) 33
(2) 4
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(3)
(4) 10

Correct Answer: (4) 10

Solution:
Step 1: Let the number be N. Given:
N = 774k + 53,

for some integer k.
Step 2: Finding the remainder when NV is divided by 43:

Since 774 is divisible by 43, 774 = 43 x18.
So, we simplify:

N = 43 x18k + 53.
Step 3: Taking modulo 43 on both sides:

N 43 = (43 x18k + 53)43.
Since 43 x 18k = 043, we get:

N = 5343.
Step 4: Computing the remainder:

53 +43 = lextremainder10.Thus, N43 = 10.
Thus, the correct answer is:
(4) 10.

Quick Tip

For remainder problems, express the given number in modulo form and
reduce it step by step.

77. What is the smallest number of 5 digits that is exactly divisible
by 5177
(1) 10000
(2) 51700
(3) 10517
(4) 10340
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Correct Answer: (4) 10340

Solution:
Step 1: The smallest 5-digit number is 10000.
Step 2: Finding the smallest multiple of 517 greater than or equal to 10000:

10000 =517 = 19.34.Takingthenextinteger,

20 x517 = 10340.
Step 3: Verification:

10340 =517 = 20, whichisaninteger.
Thus, the correct answer is:
(4) 10340.

Quick Tip

To find the smallest multiple of a number greater than a given value,
divide and round up to the nearest integer before multiplying.

78. A sum of money invested at compounded interest amounts to 7
times itself in 7 years. In how many years will it amount to 49 times
itself?

(1) 21 years
(2) 343 years
(3) 49 years
(4) 14 years

Correct Answer: (1) 21 years

Solution:

Step 1: Given that the principal amount grows 7 times in 7 years, we can
use the formula for compound interest:

A =P xrt.

Since A =T7P at t = 7 years,
7P =P xr’.

Dividing both sides by P:

=7
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Step 2: To find the time when the amount becomes 49 times the principal:

49P = P xrt.
Dividing by P:

rt = 49.
Step 3: Using r7 = 7, we rewrite 49 as:

2l = (r7)3 =72 = 49.

Thus, t = 21 years.
Thus, the correct answer is:

(1) 21 years.

Quick Tip

In compound interest problems where the amount multiplies in equal
time intervals, use exponentiation properties to determine the required
time.

79. If A:B=5:3and B:(C =7:5, then what is the value of A: B: C?
(1)30:28:25

(2) 25:28: 15

(3)35:21:15

(4) 15:21:25

Correct Answer: (3) 35:21:15

Solution:
Step 1: Given ratios:

A:B=53, B:C=75.
To find A : B : C, we express B in both ratios with a common multiple.

Step 2: The LCM of 3 and 7 is 21, so we adjust the ratios:
A:B=(5x7):(3x7)=235:21,

B:C = (7 x3):(5x3)=21:15.
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Step 3: Combining the ratios:

A:B:C = 35:21:15.
Thus, the correct answer is:

(3) 35:21:15.

To combine two ratios, find the least common multiple (LCM) of the
common term and adjust both ratios accordingly.

80. If the diagonals of two squares are in the ratio of 3 : 8, what will
be the ratio of their area?
(1)3:8
(2) 8:3
(3)64:9
(4)9:64

Correct Answer: (4) 9: 64

Solution:
Step 1: The formula for the diagonal d of a square in terms of its side length
s is:

d = sv2.

Step 2: Given the ratio of diagonals:

dlm, we can express the side lengths as:
Sl\/§82\/§:
S1 Q
Step 3: The area of a square is given by A = s2. Taking the square of both
sides:

%.Cancelingﬁ !

A

1 . ;

A= (2)'=(3)"=#-
Thus, the correct answer is:
(4) 9:64.
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When dealing with squares, the ratio of their areas is the square of the
ratio of their corresponding sides or diagonals.

81. The cost price of 3 dozen bananas is 48. After selling 30 bananas
at the rate of 14 per dozen, the shopkeeper reduces the rate to 2 per
dozen. What is the loss percentage?

(1) 33.33%
(2) 25%
(3) 66.67%
(4) 20%

Correct Answer: (2) 25%

Solution:
Step 1: Given cost price (CP) of 3 dozen (36) bananas:

CP =48.

Step 2: Selling price (SP) of 30 bananas at 14 per dozen:

SP for 30 bananas = 30m
Step 3: Remaining 6 bananas sold at 2 per dozen:

SP for 6 bananas = 65551

Step 4: Total selling price:

Total SP = 35 + 1 = 36.
Step 5: Loss calculation:

Loss = CP - SP = 48 - 36 = 12.
Step 6: Loss percentage:

Loss% = 12 g55y00=95m .
Thus, the correct answer is:

(2) 25%.

To calculate loss percentage, use the formula: ﬁ x 100.
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82. In a division problem, the divisor is 5 times the quotient and 2

times the remainder. If remainder is 15, then what is the dividend?
(1) 90

(2) 180

(3) 77

(4) 195

Correct Answer: (4) 195

Solution:
Step 1: Let the quotient be ¢ and the divisor be d. Given:

d=5q, d=2x15=30.

Solving for ¢:
5q =30 = q=6.

Step 2: The formula for dividend D in division is:
D=dxqg+r.

Substituting values:
D =30x6415=195.

Thus, the correct answer is:

(4)195.

For division problems, use the formula D = d x ¢ 4+ r and express un-
knowns in terms of given conditions.

83. If 2463Q7 is divisible by 11, then what is the digit in place of @?
)9

(3)
(4)

Correct Answer: (3) 6

(1
(2) 4
6
7

Solution:

Step 1: A number is divisible by 11 if the difference between the sum of its
digits in odd positions and the sum of its digits in even positions is a multiple
of 11.
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Step 2: Given number 2463Q7, we identify positions:
Oddpositions :2,6,@ = 2+64+Q =8+ Q.

FEvenpositions :4,3,7 = 4+4+3+7=14.
Step 3: Applying the divisibility rule:
(8 + @) — 14 = 011.
8+Q@—-14=-6+Q.
—6+ @ =011.
Q@ = 6.

Thus, the correct answer is:

(3)6.

To check divisibility by 11, subtract the sum of digits in even places from
the sum of digits in odd places and ensure the result is a multiple of 11.

84. The average of 10 results is 40 and the average of other 40 results
is 10. What is the average of all the results together?

Correct Answer: (3) 16

Solution:
Step 1: The total sum of the first 10 results:

Sum; = 10 x 40 = 400.
Step 2: The total sum of the next 40 results:

Sumsg = 40 x 10 = 400.
Step 3: The total number of results:

10 + 40 = 50.
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Step 4: The overall average:

Total Sum _ 400 + 400 _ @ _ 16
Total Number 50 50 0

Average =
Thus, the correct answer is:

(3)16.

Quick Tip

To find the combined average, compute the total sum of all values and
divide by the total count.

85. The ratio of the number of boys and girls in a college is 7: 3. If
30% of the boys and 20% of the girls are adults, then what percentage
of the total students is NOT adult?

(1) 50
(2) 73
(3) 75
(4) 27

Correct Answer: (2) 73

Solution:
Step 1: Assume the total number of students is 10z (since the ratio of boys
to girls is 7 : 3).

Numberofboys = 7Tx, Numberofgirls = 3.

Step 2: Finding the number of adult students:

Adultboys = 30%o0fTr = % X Tx = 2.1z.
. 20
Adultgirls = 20%o0f3z = 100 X 3z = 0.6z.

Totaladults = 2.1x + 0.6x = 2.7x.
Step 3: Finding the percentage of students who are NOT adults:

Non — adults = 10x — 2.7x = 7.3x.

7.3
Percentageo fnon — adults = Wx x 100 = 73%.
x
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Thus, the correct answer is:

(2)73%.

When dealing with ratio problems, express total values in terms of a
common variable before calculating percentages.

86. The percentage of profit made when an article is sold for 111 is
twice as much as when it is sold for 99. What is the cost price of the
article?

(1) 12
(2) 90
(3) 87
(4) 24

Correct Answer: (3) 87

Solution:
Step 1: Let the cost price of the article be z. Given:

99 — x

x 100.

Profitpercentageat99 =

U=z oo

Profitpercentageat11l =

Step 2: Given that the profit percentage at 111 is twice the profit percentage
at 99:

111 —z 99 —z
=2 X .
x T

Step 3: Solving for x:
111 — 2 =2(99 — x).
111 — z =198 — 2x.
111 + 2z = 198.
x = 87.

Thus, the correct answer is:

(3)87.
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In profit percentage problems, express profit as a function of cost price
and solve algebraically when given conditions.

87. If A’s salary is 100% more than that of B, then by what percentage
B’s salary is less than that of A?
(1) 75
(2) 100
(3) 200
(4) 50

Correct Answer: (4) 50

Solution:
Step 1: Let B’s salary be z. Since A’s salary is 100% more than B’s, we
express it as:
A=x+100%0fzr =z + x = 2.

Step 2: The percentage by which B’s salary is less than A’s is given by:

— B 2r—x

100 = 100.
1 X X

Step 3: Simplifying:

T

1
5 x 100 = 3 x 100 = 50%.

Thus, the correct answer is:

(4)50%.

Quick Tip

g . Decrease
To determine percentage decrease, use the formula: OrigimalVatue < 100.

88. The salary of a person is first decreased by 25% and then the
decreased salary is increased by 25%. What is the net percentage
change in his salary?

(1) 0.625% decrease
(2) 6.25% decrease
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(3) Nochange
(4) 6.25% increase

Correct Answer: (2) 6.25% decrease

Solution:
Step 1: Let the original salary be x. A decrease of 25% gives:

N =r——x=-—x=0.75z.
ewSalary =« 10033 1003: 0.75z

Step 2: An increase of 25% on the new salary:

25
FinalSalary = 0.75z + 100 x 0.75x.

= 0.752 + 0.1875z = 0.9375z.
Step 3: Net percentage change:

0.9375z — —0.0625
# % 100 = T”” % 100 = —6.25%.

Thus, the correct answer is:

(2)6.25%decrease.

When a value is increased and then decreased by the same percentage,

the net effect is always a decrease given by (f‘—ozo) %.

89. A person crosses a 1000 m long bridge in 15 minutes. What is
his speed in km per hour?
(1) 4 kin/hr
(2) 6 km/hr
(3) 2 km/hr
(4) 1 km/hr

Correct Answer: (1) 4 km/hr

Solution:
Step 1: Convert the distance to kilometers:

1000m = 1km.
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Step 2: Convert time to hours:
. 15
15minutes = %hours = 0.25hours.

Step 3: Using the speed formula:

Distance 1
= = = 4 .
Speed Time 0.25 km/hr

Thus, the correct answer is:

(L)dkm/hr.

Quick Tip

To convert m/min to km/hr, use the conversion factor 1km = 1000m
and lhour = 60minutes.

90. A, B, and C can do a piece of work in 40, 60, and 120 days
respectively. In how many days can A, B, and C together finish the
work?

(1) 60
(2) 10
(3) 20
(4) 30

Correct Answer: (3) 20

Solution:

Step 1: Work done by A in one day:
€
40°

Work done by B in one day:

Work done by C in one day:
120°
Step 2: Combined work done by A, B, and C in one day:
1 1 1

10 60 T 120
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Taking LCM of 40, 60, and 120, we get 120:
3 2 1 6 1

120 7120 7120 T 120 20°
Step 3: Total time taken to complete the work:
1

- = 20days.
20
Thus, the correct answer is:
(3)20days.

Quick Tip

To solve work problems, sum up the work done per unit time by each
worker and take the reciprocal to find total time.

91. The average weight of A, B, and C is 80 kg. If the average weight
of A and B is 74 kg and that of B and C is 84 kg, then what is the
weight (in kg) of B?

(1) 78 kg
(2) 76 kg
(3) 84 kg
(4) 80 kg

Correct Answer: (2) 76 kg

Solution:
Step 1: Let the weights of A, B, and C be a, b, c. Given:

b
%:80:>a+b+c=240.
b
OO0 s at b= 148
b
%:84:%%:168.

Step 2: Summing equations:
(a4+0b)+ (b+c) =148 4+ 168 = 316.

a+ 2b+ ¢ = 316.
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Step 3: Using a + b+ ¢ = 240, subtracting:
(a+2b+c)— (a+b+c) = 316 — 240.

b="176.

Thus, the correct answer is:

Quick Tip

To find individual values from averages, express equations in terms of
sums and solve step-by-step.

92. A train is travelling at the rate of 36 km/hr. How many seconds
will it take to cover a distance of 0.5 km?
(1) 30 s
(2) 18 s
(3) 72 s
(4) 50 s

Correct Answer: (4) 50 s

Solution:
Step 1: Convert the speed into meters per second:

1000

5
=36 X T 10m/s.
Step 2: Use the formula for time:

Distance

Time =
vme Speed

Given distance = 0.5 km = 500 meters,

0
Time = — = b0seconds.
10
Thus, the correct answer is:

(4)50s.
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To convert speed from km/hr to m/s, multiply by 1%.

93. The ratio of the number of boys to girls in a school with 660
students is 8 : 3. How many more girls should be admitted to the
school to make the ratio 1:17

(1) 500
(2) 400
(3) 300
(4) 200

Correct Answer: (3) 300

Solution:
Step 1: Let the number of boys and girls be calculated from the given ratio
8:3:
Totalstudents = 660.

8
Numberofboys = 11 X 660 = 480.

Numberofgirls = % x 660 = 180.

Step 2: To make the ratio 1 : 1, the number of girls should be equal to the
number of boys.
Requirednumberofgirls = 480.

Additionalgirlsrequired = 480 — 180 = 300.

Thus, the correct answer is:

(3)300.

To adjust ratios, express given quantities using the total sum and solve
for the necessary additions or subtractions.

94. 84,808 becomes thrice itself in 4 years at a certain rate of interest.
In how many years will it become 9 times itself at the same rate of
compound interest?
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Correct Answer: (1) 8

Solution:
Step 1: The compound interest formula is:

A= Prt.
Since A = 3P at t = 4 years:
3P = pri.
Dividing by P:
rt=3.

Step 2: To find when the amount becomes 9 times the principal:
9P = Prt.

Dividing by P:
rt=09.

Step 3: Expressing 9 in terms of r:

Thus,
t = 8years.

Thus, the correct answer is:

(1)8years.

Quick Tip

When a value multiplies by a constant ratio in equal intervals, express
exponents to find the required time.

95. Find the approximate value of 5.931 x 3.61 + 2.19 — 7%.
(1) 14.25

(2) 18.2

(3) 16.1

(4) 17.9

89



Correct Answer: (3) 16.1

Solution:
Step 1: Approximate the multiplication:

9.931 x 3.61 = 5.93 x 3.6 = 21.35.

Step 2: Add 2.19:
21.35 + 2.19 = 23.54.

Step 3: Subtract 7% (which is 7.5):
23.54 — 7.5 = 16.04.

Rounding to one decimal place:
16.1.

Thus, the correct answer is:

(3)16.1.

When dealing with approximations, round decimals to two places before
performing operations for accurate estimates.

96. A 300-metre long train is running at a speed of 72 km/hr. How
many seconds does it take to cross a 500-metre long bridge?
(1) 80 s
(2) 15 s
(3) 40 s
(4) 50 s

Correct Answer: (3) 40 s

Solution:
Step 1: Convert the speed into meters per second:
1000
T2km/hr =72 .
m/hr =12 6™

5
=72 x i 20m/s.
Step 2: Total distance to be covered:

Trainlength + Bridgelength = 300 4+ 500 = 800meters.
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Step 3: Use the formula for time:

Distance

Time =
me Speed

Time = @ = 40seconds.
20

Thus, the correct answer is:

(3)40s.

Quick Tip

To convert speed from km/hr to m/s, multiply by .

97. A can do a job in 9.8 days and B can do it in 14 days. They
work together for 3.5 days and A goes away. In how many days will
B finish the remaining work?

(1) 3.6 days
(2) 5.5 days
(3) 6.3 days
(4) 7.2 days

Correct Answer: (2) 5.5 days

Solution:
Step 1: Work done by A in one day:

€
9.8
Work done by B in one day:
1
ﬁ.
Step 2: Combined work done by A and B in one day:
1
9.8 14’

Taking LCM of 9.8 and 14, we get:

14+9.8 2338
98 x 14 1372

~ 0.1735.
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Step 3: Work done by A and B together in 3.5 days:
3.5 x 0.1735 = 0.607.
Step 4: Remaining work:
1—0.607 = 0.393.

Step 5: Time taken by B alone to complete remaining work:

0.393
—— = 5.5days.
1/14 s
Thus, the correct answer is:
(2)5.5days.

Quick Tip

To solve work problems, calculate the total work done and subtract from
1 to find remaining work before dividing by the worker’s rate.

98. If X means <+, — means X, - means +, and + means —, then what
is the value of (5—-3+1) x 16 + 17
(1) 33

Correct Answer: (2) 0

Solution:
Step 1: Replace symbols with their respective operations:

(5-3=+1)x16+1.
Applying the given substitutions:
(5x3+4+1)+16—1.
Step 2: Solve inside the parentheses first:

5x3+1=15+1=16.
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Step 3: Perform division:
16+-16—-1=1-1=0.
Thus, the correct answer is:

(2)0.

Quick Tip

For symbol-based problems, carefully replace each symbol before per-
forming calculations.

99. What is the difference between Compound interest and Simple

interest on 10,00,000 for 3 years at 4% per annum rate of interest?
(1) 5,890

(2) 8,246

(3) 6,724

(4) 4,864

Correct Answer: (4) 4,864

Solution:
Step 1: Formula for Simple Interest (SI):

_P><R><T

ST 100

Substituting values:

~10,00,000 x 4 x 3

1
S 100

= 1,20, 000.

Step 2: Formula for Compound Interest (CI):

R T
I=P|14+ — - P.
¢ <+100)

Substituting values:
4\3
C1I =10,00,000 (1 + 100) — 10, 00, 000.

= 10,00, 000 x (1.124864) — 10, 00, 000.
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=1,12,486.4 — 10, 00, 000.
=1,24,864.
Step 3: Difference between CI and SI:

Dif ference = 1,24,864 — 1,20,000 = 4, 864.
Thus, the correct answer is:

(4)4,864.

The difference between compound and simple interest for 3 years is given
PxR? 3R
by 55 x (356 +1)-

100. Find the approximate value of 2.161 = 3.2 — 4.33 + 5.1 x 3.23.
(1) 18.47

(2) 10.13

(3) 12.81

(4) 14.69

Correct Answer: (3) 12.81

Solution:
Step 1: Approximate each operation:

2.161 =+ 3.2 = 0.675.

5.1 x 3.23 ~ 16.473.

Step 2: Substitute values into the given expression:
0.675 — 4.33 + 16.473.
Step 3: Perform subtraction and addition:
0.675 — 4.33 = —3.655.

—3.6565 +16.473 = 12.818.

Approximating to two decimal places:

12.81.
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Thus, the correct answer is:

(3)12.81.

Quick Tip

For approximations, round off to two decimal places and maintain sig-
nificant figures in calculations.

101. What is the approximate average of the total runs scored by
India in all the five matches together?
(1) 265
(2) 245
(3) 255
(4) 275

Correct Answer: (3) 255

Solution:
Step 1: Compute the total runs scored in all matches:

260 + 250 + 270 + 290 + 205 = 1275.

Step 2: Calculate the average:

Average = 125j = 255.

Thus, the correct answer is:

(3)255.

To find the average, sum all values and divide by the number of values.

102. Who among the top 5 players scored maximum runs in the
series?

(1) Dhoni
(2) Virat
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(3) Shikhar
(4) Rohit

Correct Answer: (4) Rohit

Solution:
Step 1: Compute total runs scored by each player:

e Shikhar: 32 + 64 + 20 + 78 + 15 = 209

Rohit: 10 + 25 4 102 442 + 35 = 214

Virat: 55 4+ 30 4 28 + 60 4 35 = 208

e Dhoni: 35+ 31 + 60 + 55 + 25 = 206
e Raina: 68 + 25 + 30 + 25 + 45 =193

Step 2: Identify the player with the highest total runs:
Rohit = 214(mazimumrunsscored).

Thus, the correct answer is:

(4) Rohit.

Quick Tip

To determine the highest scorer, sum the runs scored in each match and
compare the totals.

103. Rohit’s score in Match 3 is approximately what percentage of
his total runs in the series?
(1) 64.8%
(2) 33.7%
(3) 47.6%
(4) 56.2%

Correct Answer: (3) 47.6%

Solution:
Step 1: Rohit’s total runs in the series:

10 + 25+ 102 + 42 + 35 = 214.
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Step 2: Rohit’s score in Match 3:
102.

Step 3: Calculate the percentage:

102
214 x 100 ~ 47.66%.

Step 4: Rounding to one decimal place:

47.6%.

Thus, the correct answer is:

(3)47.6%.

To find a percentage, divide the part by the total and multiply by 100.

104. The average height of a group of 7 friends is 182 cm. If a person
with a height of 170 cm leaves the group, then what would be the
new average height?

(1) 194 cm
(2) 184 cm
(3) 180 cm
(4) 186 cm

Correct Answer: (2) 184 cm

Solution:
Step 1: Compute the total height of 7 friends:

7 x 182 = 1274.
Step 2: Subtract the height of the person leaving:
1274 — 170 = 1104.

Step 3: Compute the new average height:

1104
— = 184.
6

Thus, the correct answer is:

97



(2)184cm.

When removing a value from an average, first compute the total, subtract
the value, and recalculate the average.

105. In how many years will 24,000 amount to 31,944 when invested
at the annual interest rate of 10% compound interest compounded
annually?

Correct Answer: (4) 3

Solution:
Step 1: Use the compound interest formula:

RA\T
A=P1+— ] .
<+100)

Substituting given values:
31,944 = 24,000 1+£ '
Ty 100/ °

31,944 = 24,000(1.1)7.
Step 2: Solve for T"

31,944
= (1.1)T.

24,000 (1.1)
1.33 = (1.1)7.

Taking logarithms on both sides:
log(1.33) = T'log(1.1).
Using approximate values: log(1.33) =~ 0.1249 and log(1.1) ~ 0.0414,

0.1249 _

== ~ J. 2.
0.0414 30
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Rounding to the nearest integer:
T = 3years.
Thus, the correct answer is:

(4)3years.

Quick Tip

For compound interest problems, use logarithms to solve for time when
given principal, interest rate, and final amount.

106. Amit ate 1 of a cake. Ajay ate 1 of what was left. What fraction
of the cake was left uneaten?

(1) 5
()4~
i1
(3) 65
(4) 55
Correct Answer: (4) %

Solution:
Step 1: Cake eaten by Amit:

1 1
—xX1==.
7T
Remaining cake:
L.
77
Step 2: Cake eaten by Ajay:
1,6_6
577 35
Step 3: Remaining cake:
6 6
7 35
Taking LCM of 7 and 35:
062
35 35 35

Thus, the correct answer is:
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When solving fraction problems, subtract consumed portions step by
step to find what remains.

107. A boy was asked to calculate %th of a certain number. Instead
of multiplying the number by %, he divided it by % If his answer
exceeded the correct answer by 90, then what is the number?

(1) 84
(2) 14
(3) 45
(4) 28

Correct Answer: (4) 28

Solution:
Step 1: Let the number be x. The correct calculation is:

2
7 T
Step 2: The boy mistakenly divided instead of multiplying:
2 7T Tz
TE- =T X - =—.
7 2 2

Step 3: The difference between the incorrect and correct results is given as

90:
Tr 2x

Step 4: Taking LCM of 2 and T7:
49z — 4x
— =90.
14
45x
— =90.
14
Step 5: Solving for x:
45z = 1260.
x = 28.
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Thus, the correct answer is:

When solving fraction problems, carefully apply multiplication and di-
vision operations to avoid errors.

108. If the average of the first 9 integers in a series of 15 consecutive
odd integers is 41, then what is the average of all the 15 odd integers
in the series?

(1) 49
(2) 47
(3) 43
(4) 45

Correct Answer: (2) 47

Solution:
Step 1: The average of an odd number of consecutive odd numbers is the
middle number. For the first 9 integers, the middle number is:

Middlenumber = 41.

Step 2: Identify the middle number for the entire series of 15 consecutive
odd numbers. Since 15 numbers include the original 9 plus 3 more on either
side, the middle number remains the average:

Middlenumbero f15numbers = Averageo falllbnumbers.

The new middle number is:
47.

Thus, the correct answer is:

(2)47.

The average of consecutive odd (or even) numbers is always the middle
number of the sequence.
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109. A merchant bought 150 eggs, out of which 45 eggs were broken.
He sold the remaining eggs at the rate of 8.80 per dozen and thus
made an overall profit of 10%. What was his total investment?

(1) 80
(2) 70
(3) 110
(4) 60

Correct Answer: (2) 70

Solution:
Step 1: Number of eggs sold:

150 — 45 = 105.
Step 2: Selling price per dozen:
8.80.

Total dozens sold: 105
— = 8.75.
12 8.75
Total selling price:

8.75 x 8.80 = 77.
Step 3: Let the cost price be z. Given a profit of 10%,

zx1.1="77.
Solving for z: -
T=17= 70.
Thus, the correct answer is:
(2)70

To find the cost price from selling price and profit percentage, use CP =

SP
14 Brofit%

100
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110. A man borrowed 10,500 at 10% compound interest. How much
does he have to pay annually at the end of each year to settle his loan
in 2 years?

(1) 6050
(2) 5250
(3) 6060
(4) 6000

Correct Answer: (1) 6050

Solution:
Step 1: Use the formula for annual installment in compound interest:

B PxR
1-(1+R)™

Where:
e P =10,500 (Principal)

e R= 1% =0.1 (Annual Interest Rate)

e 1 = 2 years
Step 2: Substitute the values:

10,500 x 0.1
1—(1.1)7%"

1,050

= 1
1- 1.21

1,050
- 1-0.8264"
1,050
T 0.1736°
~ 6050.

Thus, the correct answer is:

(1)6050.

For annual installment calculations, use the annuity formula and apply
proper interest conversion.
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111. Few apples were bought at the rate of 3 apples for 2, and sold
at the rate of 2 apples for 3. What is the gain percentage?
(1) 100
(2) 50
(3) 75
(4) 125

Correct Answer: (4) 125

Solution:
Step 1: Find the cost price (CP) per apple:

CP per apple = 25545667
Step 2: Find the selling price (SP) per apple:

SP per apple = 35—+

Step 3: Compute gain percentage:

Gain = SP - CP = 1.5 - 0.6667 = 0.8333.

Gain percentage = (8:222?) x 100 = 125%.

Thus, the correct answer is:

(4)125%.

Quick Tip

To calculate profit percentage, use % x 100.

112. In a triangle ABC, D is the midpoint of BC. If AB = 8 m; AC
= 10 m and DB = 6 m, then the approximate length of AD is:
(1) 5m
(2) 11 m
(3)9m
(4) 7m

Correct Answer: (4) 7m

Solution:
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Step 1: In the given triangle ABC, D is the midpoint of BC. This means
that BD = DC = 6 m. We are required to find the length of AD.
Step 2: To calculate AD, we can use the Apollonius’s Theorem, which

states:
AB? + AC? = 2AD? + 1 BC?
Step 3: Substituting the given values into the equation:
824102 = 2AD? + %(122)
64 + 100 = 2AD? + 1 (144)
164 = 2AD? 4 72
Step 4: Solving for AD?:
164 - 72 = 2AD?

92 = 24D?
AD? = 46

AD = V46 ~ 6.8 m

Therefore, the approximate length of AD is 7 meters.
Thus, the correct answer is:

(4)7m.

To find the length of a median in a triangle, you can use the Apollonius’s
Theorem, which relates the sides of the triangle and the length of the
median.

113. A wheel of car makes 3900 revolutions in 2 hours. If the radius
of the wheel is 21 cm, then speed of the car is:
(1) 63.5 m/sec
(2) 71.5 m/sec
(3) 92.56 m/sec
(4) 0.715 m/sec
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Correct Answer: (4) 0.715 m/sec

Solution:

Step 1: First, we need to find the distance traveled by the wheel in one
revolution. The distance traveled in one revolution is the circumference of the
wheel, which is given by the formula:

C =2mr
Where r = 21 em = 0.21m (since 1 cm = 0.01 m).
C=21x0.21=1318m

Step 2: The wheel makes 3900 revolutions in 2 hours. We now calculate
the total distance traveled by the car in 2 hours.

Totaldistance = 3900 x 1.318 = 5140.2m

Step 3: Now, we calculate the time in seconds. Since 2 hours = 2 x3600 =
7200seconds, thespeedv of the car is:

Totaldistance  5140.2
Y Time Ta00 T m/sec

Thus, the speed of the car is approximately 0.715 m/sec.
Therefore, the correct answer is:

(4)0.715m/ sec.

To calculate the speed of a car based on wheel revolutions, use the for-
mula for the circumference of the wheel and divide the total distance
traveled by the time taken.

114. A man buys a certain number of bananas at 8 rupees per banana
and the same number at 18 rupees per banana. He mixes them
together and sells at 10 rupees per banana. The approximate gain or
loss percentage is:
(1) 15% loss

(2) 20% gain

(3) 23% loss

(4) 11% gain
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Correct Answer: (4) 11% gain

Solution:
Step 1: Let the man buy 1 banana at 8 rupees and 1 banana at 18 rupees.
So, the total cost price (CP) for 2 bananas is:

TotalCP = 8 + 18 = 26 rupees

Step 2: The total selling price (SP) for 2 bananas, when sold at 10 rupees
each, is:

TotalSP = 10 x 2 = 20 rupees
Step 3: The loss incurred is:
Loss = Total CP — Total SP = 26 — 20 = 6 rupees

Step 4: The percentage loss is calculated as:

Loss 6
LossPercentage = (TotalC’P) x 100 = (26) x 100 =~ 23.08%

Therefore, the approximate percentage of loss is 23
Thus, the correct answer is:

(3)23%loss.

To calculate gain or loss percentage, use the formula:

Percentage = (LOSSOTGGM> 100.

CostPrice

115. The difference of two numbers is 30% of their sum. Find the
ratio of the larger number to the smaller number.
(1) 13:10
(2) 7:3
(3) 13:7
(4) 13:3

Correct Answer: (3) 13:7

Solution:
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Step 1: Let the two numbers be x and y, where = > y. According to the
problem, the difference of the two numbers is 30% of their sum. This can be
written as:

z—y=0.30(z+y)
Step 2: Simplifying the equation:

xr —y = 0.30z + 0.30y
z —0.30x =y + 0.30y

0.70z = 1.30y
Step 3: Dividing both sides by y and simplifying further:
z 130 13

y 070 7
Thus, the ratio of the larger number to the smaller number is:
Ratio=£=13:7
Yy
Therefore, the correct answer is:

(3)13: 7.

Quick Tip

To solve such problems, form an equation based on the given relationship
and solve for the ratio between the two numbers.

116. By selling 70 ball pens for 120 a retailer loses 40%. How many
ball pens should he sell for 116 so as to make a profit of 40%7?
(1) 29
(2) 30
(3) 27
(4) 28

Correct Answer: (4) 28

Solution:
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Step 1: Let the cost price of one ball pen be C. Since the retailer sells 70
ball pens for 120 and incurs a loss of 40%, the selling price (SP) is 60% of the
cost price (since 100% - 40% = 60%).

SP =0.60 x C

We know the selling price of 70 ball pens is 120, so the cost price for 70 pens
will be:

70 x C' = 120/0.60

70C = 200

200
C= -5 = 2.857 (Cost Priceperpen)

Step 2: To make a profit of 40%, the selling price should be 140% of the
cost price (since 100% + 40% = 140%).

SP=140xC
Substitute the value of C:
SP =1.40 x 2.857 ~ 4.00

So, the selling price of one pen to make a 40% profit is 4.
Step 3: Now, we need to determine how many pens should be sold for 116.
Let n be the number of pens. The total selling price is:

nx4=116
116

— 2 _99
"=y

Thus, the retailer should sell 29 pens to make a profit of 40
Therefore, the correct answer is:

(1)29.

To calculate profit or loss, first find the cost price per item using the loss
or profit percentage. Then, determine how many items need to be sold
at the desired price to achieve the required profit.
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117. Two numbers X and Y leave a remainder of 17 and 7 respectively
when divided by 23. If the sum X + Y is divided by 23, then what
would be the remainder?

(1)1
(2) 21
(3) 22
(4) 2

Correct Answer: (4) 2

Solution:
Step 1: We are given that:

X =17 (mod 23)

Y =7 (mod 23)

This means when X is divided by 23, the remainder is 17, and when Y is
divided by 23, the remainder is 7.

Step 2: Now, we need to find the remainder when X + Y is divided by 23.
We add the two congruences:

X+Y=17+7 (mod 23)

X+Y =24 (mod 23)
Step 3: When we divide 24 by 23, the remainder is 1 (since 24 — 23 = 1).
X+Y =1 (mod 23)

Thus, the remainder when X + Y is divided by 23 is 1.
Therefore, the correct answer is:

(1)1.

To find the remainder of the sum of two numbers when divided by a
divisor, simply add the remainders of each number and divide the sum
by the divisor. The final remainder will be the remainder of this sum
modulo the divisor.
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118. Which two signs must be interchanged to make the following
equation correct?

24+5x3-1+0=17

(1) - and +
(2) x and +
(3) - and +
(4) x and -

Correct Answer: (3) - and +

Solution:
Step 1: The given equation is:

24+5x3-1+0=17

But, dividing by zero is undefined in mathematics, so the equation as it is
currently written cannot be correct. Therefore, we need to swap some signs to
make the equation valid.

Step 2: Let’s try swapping the signs
correct. So the equation will be:

7N

and ”+” to make the equation

245x3+1-0=17
Step 3: Now, simplify the expression:
245%x3+1-0=24+15-0=17

Thus, the equation becomes correct.
Therefore, the correct signs to interchange are
Thus, the correct answer is:

»_» R

and ”+".

(3) — and.

Quick Tip

When solving such problems, ensure to simplify the equation step by
step and check which signs make the equation valid.

119. A is 6.5 times as good a workman as B. Together they finish the

work in 3 days. In how many days approximately A alone can do it?
(1) 15 days

(2) 20 days
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(3) 4 days
(4) 6 days

Correct Answer: (3) 4 days

Solution:

Step 1: Let the work done by A in one day be 6.5z and the work done by
B in one day be x, where x is a unit of work. Therefore, together A and B can
do 6.5x + x = 7.5x units of work per day.

Step 2: Since they finish the work together in 3 days, the total work is:

Totalwork = Workdoneperday x Numberofdays = 7.5z x 3 = 22.5x

Thus, the total work is 22.5x units.

Step 3: Now, we need to find the number of days A alone can complete the
work. Since A does 6.5x units of work per day, the number of days A will take
to complete the total work is:

Totalwork 225z 225

Numb d A= = -
umberofdays for W orkdoneperdayby A 6.5z 6.5

~ 3.46 days

Thus, approximately, A can complete the work in 4 days.
Therefore, the correct answer is:

(3)4days.

To solve this type of problem, first calculate the work done per day by
both workers and then use the total work to calculate the number of
days one worker would take.

1. A and B together can finish a piece of work in 20 days. If A alone
can finish the work in 30 days, then how many days can B alone finish
the same work?

(1) 50 days
(2) 25 days
(3) 60 days
(4) 10 days

Correct Answer: (3) 60 days

Solution:
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Step 1: Let the total work be represented as 1 unit.
- If A alone can finish the work in 30 days, A’s work rate is:

1
Workrateof A = 30 unitperday.

- A and B together can finish the work in 20 days, so their combined work
rate is:

1
Workrateof AandBtogether = 20 unitperday.

Step 2: The work rate of B alone is the combined work rate minus A’s work
rate. So, the work rate of B alone is:

11
Workrateof B = — — —
OTrRKrateo 20 30

Step 3: Simplifying this expression:

3 2 1
B = - — = — ) .
Workrateof 50 60— 60 unitperday

Step 4: Since B can complete % of the work per day, the number of days
B will take to finish the entire work is:

NumberofdaysforB = = 60 days.

gl

Thus, B alone can finish the work in 60 days.
Therefore, the correct answer is:

(3)60days.

When working with rates, the combined work rate is the sum of individ-
ual work rates. Subtract the rate of one worker from the combined rate
to find the rate of the other worker.

121. Choose the correct option to complete the sentence:

Y oushouldtake__umbrellawithyouasitmightrain.

(1) A
(2) No article
(3) The
(4) An
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Correct Answer: (4) An

Solution:

The sentence requires the correct article before the word ”umbrella”. Since
"umbrella” starts with a vowel sound (i.e., "u”), the appropriate article to use
is "an”, which is used before words that begin with a vowel sound.

Thus, the correct sentence is:

Y oushouldtakeanumbrellawithyouasitmightrain.

Therefore, the correct answer is:

(4)An.

Quick Tip

Use "an” before words that begin with a vowel sound and ”a” before
words that begin with a consonant sound.

122. Choose the correct option to complete the sentence:

Mymotherdoesnotliketosee__untidyroom.

(1) A
(2) An
(3) No Article
(4) The

Correct Answer: (1) A

Solution:

The sentence requires the correct article before the word ”untidy room”.
Since ”untidy” starts with a consonant sound (the "u” in ”untidy” sounds like
"you”), the appropriate article to use is ”a”, which is used before words that
begin with a consonant sound.

Thus, the correct sentence is:

Mymotherdoesnotliketoseeauntidyroom.

Therefore, the correct answer is:

(1)A.
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Use ”a” before words that begin with a consonant sound and ”an” before
words that begin with a vowel sound.

123. Choose the correct option to complete the sentence:
He__ahotelinthistown.

(1) was owning
(2) is owning
(3) owns
(4) had been owning

Correct Answer: (3) owns

Solution:

The sentence describes a general fact or a habitual action. In such cases, we
use the present simple tense.

The correct sentence is:

Heownsahotelinthistown.

The other options:

- "was owning” (past continuous) refers to an action happening in the past,
which does not fit the context of the sentence. - ”is owning” (present continuous)
is used for actions happening right now, but this is not appropriate as it refers
to a more permanent situation. - had been owning” (past perfect continuous)
indicates an action that was ongoing in the past, which also doesn’t suit the
context of this sentence.

Thus, the correct answer is:

(3)owns.

Use the present simple tense to describe general facts or habitual actions.

For actions happening at the moment or temporary situations, use the
present continuous.
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123. Which of the following is the nearest in meaning to the given
word?

imminent

(1) impending
(2) important
(3) imaginary
(4) imitation

Correct Answer: (1) impending

Solution:

The word ”imminen
or is impending.

The correct synonym in this case is:

b2

means something that is about to happen very soon

impending.

Explanation of other options: - ”"important” means significant, which does
not match the meaning of ”imminent.” - ”imaginary” refers to something that
is not real, which does not relate to ”imminent.” - ”imitation” refers to copying
something, which is also not related to ”imminent.”

Thus, the correct answer is:

(1)impending.

Quick Tip

When you encounter words like "imminent,” which refer to something
about to happen, synonyms like ”impending” are appropriate. Always
check the context of the word to choose the closest meaning.

125. Choose the correct option to complete the sentence:
Thereare__paperslyingonthetable.
(1) any
(2) much
(3) some

(4) little

Correct Answer: (3) some
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Solution:

In this sentence, we are referring to a countable noun ”papers,” so the correct
determiner must be used accordingly. The word ”some” is typically used for
affirmative statements with countable nouns, making it the best choice for this
context.

Thus, the correct sentence is:

T herearesomepaperslyingonthetable.

Explanation of other options: - "any” is typically used in negative or in-
terrogative sentences, not affirmative ones like this. - "much” is used with
uncountable nouns, so it does not fit with ”papers,” which is a countable noun.
- "little” is also used with uncountable nouns, which makes it an incorrect choice
here.

Thus, the correct answer is:

(3)some.

Quick Tip

Use ”"some” for affirmative sentences when talking about countable
nouns, and ”any” for negative or interrogative contexts.

126. Choose the correct option to complete the sentence:

__virtueisitsownreward.

(1) The
(2) No Article
(3) A
(4) An

Correct Answer: (2) No Article

Solution:

The sentence is a general statement, and in such cases, we do not use an
article before an abstract noun like ”virtue.” The sentence refers to ”virtue” in
a general sense, meaning that virtue, in general, is its own reward.

Thus, the correct sentence is:

Virtueisitsownreward.

Explanation of other options: - ”The” is used when referring to a specific
or particular instance, which is not the case here. - ”A” and ” An” are used for
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singular, countable nouns when referring to a specific instance, which does not
apply in this case either.
Thus, the correct answer is:

(2)NoArticle.

When making general statements about abstract concepts, articles are
usually not needed.

127. Choose the correct option to complete the sentence:

Thisisabirthdaygi ft__mybrother.

(1) from
(2) unto
(3) of
(4) since

Correct Answer: (1) from

Solution:
The correct preposition here is ”from,” as it is used to indicate the giver of
the gift in this context. ”From” indicates the source or the origin of the gift.
Thus, the correct sentence is:

Thisisabirthdaygi ftfrommybrother.

Explanation of other options: - ”unto” is an archaic or formal word that does
not fit in modern English usage for this context. - "of” is used for possession
or composition, but does not fit the context of indicating the giver of the gift.
- 7since” is used to indicate a time reference, which is not suitable here.

Thus, the correct answer is:

(1) from.

Quick Tip

Use "from” to indicate the source or giver of something, like a gift or a
present.
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128. Choose the correct option to complete the sentence:

Y ouhavechosen__bestgi ft forme.

(3) An
(4) No Article

Correct Answer: (1) The

Solution:

The word ”best” is a superlative adjective. When a superlative adjective is
used, the definite article "the” is required before the noun.

Thus, the correct sentence is:

Y ouhavechosenthebestgi ft forme.

Explanation of other options: - ”A” is used for indefinite references to a
singular, countable noun, which does not fit with "best.” - 7 An” is used before
words starting with a vowel sound, but "best” does not require "an” in this
context. - "No Article” would be incorrect because the superlative form ”best”
needs ”the.”

Thus, the correct answer is:

(1)The.

When using superlative adjectives (like ”best”), always use ”the” before
the noun.

129. Choose the correct option to complete the sentence:

Y ouhavechosen__bestgi ft forme.

(3) An
(4) No Article

Correct Answer: (1) The
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Solution:

The word ”best” is a superlative adjective. When a superlative adjective is
used, the definite article ”the” is required before the noun.

Thus, the correct sentence is:

Y ouhavechosenthebestgi ft forme.

Explanation of other options: - ”A” is used for indefinite references to a
singular, countable noun, which does not fit with "best.” - 7 An” is used before
words starting with a vowel sound, but "best” does not require "an” in this
context. - "No Article” would be incorrect because the superlative form ”best”
needs ”the.”

Thus, the correct answer is:

(1)The.

Quick Tip

When using superlative adjectives (like "best”), always use ”the” before
the noun.

130. Choose the correct option to complete the sentence:

__poorarealwaysneglected.

(1) A
(2) The
(3) An
(4) No article

Correct Answer: (2) The

Solution:

In this sentence, the word ”poor” is being used in a general sense to refer
to all poor people. When we talk about a group of people in general (like ”the
poor”), we use the definite article ”the” to indicate that we are referring to this
specific group as a whole.

Thus, the correct sentence is:

Thepoorarealwaysneglected.

Explanation of other options: - ”A” is used for singular, countable nouns
and does not fit here because ”"poor” refers to a general group. - "An” is used
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before words starting with a vowel sound and does not fit in this context either.
- ”No article” would be incorrect, as the definite article ”the” is necessary to
indicate the group of people being referred to.

Thus, the correct answer is:

(2)The.

)

Use ”the” to refer to a specific group or category, such as ”the poor,’
”the rich,” etc., when speaking in general terms about these groups.

131. Fill in the blanks with the correct option.

Ilovethehouse__whichl grewup.

(1) From
(2) By
(3) In
(4) With

Correct Answer: (3) In

Solution:

The correct preposition to use in this sentence is ”in.” The phrase ”in which”
refers to a location or a place where something happened or developed. In this
case, the speaker grew up in the house, so ”in” is the appropriate choice.

Thus, the correct sentence is:

IlovethehouseinwhichlI grewup.

Explanation of other options: - "From” indicates origin, which does not
fit the context of living or growing up in a place. - "By” refers to proximity
or agency, which is not suitable for this context. - ”With” generally indicates

accompaniment or possession, which does not fit the meaning in this sentence.
Thus, the correct answer is:

(3)In.

Quick Tip

Use ”in which” to refer to a location where an action or event took place,
such as ”the house in which I grew up.”
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132. Fill in the blanks with the correct option.

LittleWilliecamehomeallwetanddirty__thebaseballgame.

(1) In
(2) With
(3) For
(4) From

Correct Answer: (4) From

Solution:

The correct preposition to use in this sentence is ”from.” The phrase ”came
home from” indicates the place or event that the person is returning from. In
this case, Willie came home from the baseball game, and that’s why ”from” is
the correct preposition.

Thus, the correct sentence is:

LittleWilliecamehomeallwetanddirtyfromthebaseballgame.

Explanation of other options: - ”In” is used to indicate location or inside
something, which is not appropriate here. - ”With” would indicate being ac-
companied by something or someone, which does not fit the context. - ”For”
generally refers to purpose or reason, but it’s not suitable here as the sentence
describes an event.

Thus, the correct answer is:

(4)From.

Quick Tip

Use "from” to indicate the origin or starting point of movement, like
”came home from” or ”came back from.”

133. Choose the correct option to complete the sentence:

I__mycoursebytheendo fnextmonth.

(1) have finished
(2) was finishing
(3) will have finished
(4) would be finishing
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Correct Answer: (3) will have finished

Solution:

The sentence refers to a future event that will be completed by a certain
time, which calls for the future perfect tense. The future perfect tense is used
to describe an action that will be completed before a certain point in the future.
It is formed using ”will have” 4 past participle.

Thus, the correct sentence is:

Iwill have finishedmycoursebytheendo fnextmonth.

Explanation of other options: - ”have finished” is in the present perfect tense,
which is not suitable here because the sentence is referring to a future event. -
”was finishing” is in the past continuous tense, which is not appropriate because
it refers to an action that was happening in the past. - "would be finishing”
is in the conditional tense, which is used for hypothetical situations, not for
describing a future event that will definitely occur.

Thus, the correct answer is:

(3)willhave finished.

Use the future perfect tense ("will have” + past participle) to describe
actions that will be completed before a certain point in the future.

134. Choose the correct option to complete the sentence:

Sheismarried__aforeigner.

(1) into
(2) among
(3) to
(4) with

Correct Answer: (3) to
Solution:

The correct preposition in this context is ”to.” When referring to marriage,
we typically use "married to” to indicate the person one is married to.

Thus, the correct sentence is:

Sheismarriedtoa foreigner.
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Explanation of other options: - ”into” is incorrect here because it implies

movement or transformation, not relationship status. - "among” is used for
referring to things within a group, but it does not fit here as we are talking
about an individual person. - "with” implies accompaniment, which is not the

intended meaning in this sentence.
Thus, the correct answer is:

(3)to.

Use "married to” when referring to the person one is married to.

135. Choose the correct option to complete the sentence:

Ile ftmyjob__monthago.

(1) A
(2) The
(3) No Article
(4) An

Correct Answer: (1) A

Solution:

In this sentence, we are referring to a specific but indefinite number of
months, which requires the indefinite article ”a.” The word ”month” is singular
and countable, so ”a” is the correct choice.

Thus, the correct sentence is:

Ile ftmyjobamonthago.

Explanation of other options: - "The” is used for specific or known items,
but here we are referring to an indefinite time frame, not a specific month. -
”No Article” is incorrect, as we need an article to refer to a singular, countable
noun. - 7An” is used before words that begin with a vowel sound, but ”month”
starts with a consonant sound, so ”a” is the correct article.

Thus, the correct answer is:

(1)A.
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Use ”a” before singular, countable nouns that are not specific or known.

136. TV disrupts the most important language lesson which is:
(1) family conversation

(2) reading comic books

(3) watching television

(4) listening to the radio

Correct Answer: (1) family conversation

Solution:
From the passage, it is clear that the most important language lesson for
children is ”family conversation,” as mentioned:

TV alsodisruptsthemostimportantlanguagelessonwhich is family conversation.

Therefore, the correct answer is:

(1) familyconversation.

Explanation of other options: - "reading comic books” is not mentioned in
the passage as an important language lesson. - ”"watching television” is what
disrupts the lesson, not the lesson itself. - ”listening to the radio” is not referred
to in the passage as an important language lesson.

Thus, the correct answer is:

(1) familyconversation.

Quick Tip

The passage clearly states that family conversation is the most important
language lesson, making it the correct answer.

137. TV programs pack the action into 8-minute segments followed
by commercial breaks. This:
(1) fosters short attention span
(2) disrupts the quality of the show
(3) gives the viewer free time
(4) creates disinterest

125



Correct Answer: (1) fosters short attention span

Solution:

The passage mentions that TV programs pack the action into short segments
followed by commercial breaks, which leads to a brief attention span. The phrase
”fosters short attention span” directly reflects the idea of television breaking up
the action and not allowing the viewer to focus for long periods.

Thus, the correct answer is:

(1) fostersshortattentionspan.

Explanation of other options: - ”disrupts the quality of the show” is not
directly mentioned, though it may be inferred, it’s not the primary point in the
passage. - "gives the viewer free time” is incorrect as the commercial breaks
are not intended to give free time, but rather interrupt the show. - ”creates
disinterest” could be a secondary effect but isn’t directly stated in the passage.

Thus, the correct answer is:

(1) fostersshortattentionspan.

Quick Tip

The phrase ”short attention span” is key in understanding the impact of
commercial breaks on viewers’ focus, making this the best answer.

138. According to the passage, which of the following channels is
considered suitable for children?
(1) HBO and Comedy Central
(2) Animal Planet and Discovery
(3) Star Movies and Star World
(4) Colors and Zoom

Correct Answer: (2) Animal Planet and Discovery
Solution:

According to the passage, it mentions that children gain knowledge by watch-
ing channels such as Animal Planet and Discovery, which are educational and
suitable for children.

Thus, the correct answer is:

(2) Animal PlanetandDiscovery.
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Explanation of other options: - "HBO and Comedy Central” are more suited
for adult audiences and are not mentioned as suitable for children. - ”Star
Movies and Star World” are channels that broadcast entertainment for a general
audience, not specifically for children. - ”Colors and Zoom” are entertainment
channels, which are not mentioned in the passage as suitable for children.

Thus, the correct answer is:

(2) Animal PlanetandDiscovery.

Look for the channels mentioned directly in the passage that are explic-
itly described as educational or suitable for children.

139. Reading books is considered more beneficial for children than
watching television because
(1) of its educational value
(2) reading is a pleasure
(3) books are easily available
(4) watching television improves eyesight

Correct Answer: (1) of its educational value

Solution:

The passage highlights that reading books is considered more beneficial than
watching television primarily because of its educational value. Books improve
language, enhance knowledge, and foster attention, which makes them more
educational.

Thus, the correct answer is:

(D)ofitseducationalvalue.

Explanation of other options: - "reading is a pleasure” is not mentioned
as the primary reason for the benefits of reading books. - "books are easily
available” is not the main reason why reading is considered more beneficial. -
"watching television improves eyesight” is not mentioned in the passage and is
not a valid argument for why books are better than television.

Thus, the correct answer is:

(1ofitseducationalvalue.
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When considering the benefits of activities, focus on the key reasons pre-
sented in the passage, such as educational benefits or skill development.

140. How is reading books different from watching television?
(1) Watching television improves our eyesight.

(2) Watching television develops foul language.

(3) Reading improves our language and holds our attention.

(4) Reading makes us sedentary.

Correct Answer: (3) Reading improves our language and holds our attention.
Solution:

Step 1: According to the passage, reading is more beneficial than watching
television because it improves language skills and holds our attention.

Step 2: The passage suggests that television, with its short attention spans
and commercial breaks, doesn’t offer the same educational value as reading,
which engages and develops the mind better.

Step 3: The other options provided do not directly compare reading books
with watching television in terms of educational benefit, as the correct answer
does.

Thus, the correct answer is:

(3) Readingimprovesourlanguageandholdsourattention.

Quick Tip

Reading is an active process that engages the mind and improves cogni-
tive abilities, which is why it’s considered more beneficial than passive
activities like watching television.

141. Which of these is a false value propagated by TV commercials?
(1) Solutions to life problems can be purchased.

(2) Hard work is related to success.

(3) All fairness creams are equally effective.

(4) Detergents can be harmful for clothes.
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Correct Answer: (1) Solutions to life problems can be purchased.

Solution:

Step 1: The passage discusses how TV commercials propagate false values,
specifically the idea that solutions to life problems, like happiness or success, can
simply be purchased. This is a false notion presented by many advertisements,
suggesting that material items can solve all personal issues.

Step 2: The other options do not reflect false values in the same way: -
"Hard work is related to success” is a true value and is generally promoted
in society. - ”All fairness creams are equally effective” is a controversial and
debatable statement, but it’s not entirely a false value in all contexts, although
it may be misleading. - ”"Detergents can be harmful for clothes” is an accurate
statement in some cases and is not an example of a false value propagated by
commercials.

Thus, the correct answer is:

(1)Solutionstoli f eproblemscanbepurchased.

Be cautious of advertising claims that suggest material solutions to com-
plex personal or emotional problems. These are often oversimplified or
unrealistic.

142. Choose the correct option to complete the sentence:

Thisbookis__interestingthanthelastonethatIread.

(1) More
(2) Most
(3) Much
(4) Very

Correct Answer: (1) More
Solution:

The sentence is comparing the interest level of two books. When comparing
the degree of an adjective (like ”interesting”) between two things, we use the
comparative form "more” before the adjective.

Thus, the correct sentence is:

ThisbookismoreinterestingthanthelastonethatIread.
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Explanation of other options: - "Most” is used for the superlative form when
comparing more than two items, which is not appropriate here. - "Much” is
used to emphasize the degree of an adjective but does not work in a comparative
context. - " Very” is used to intensify adjectives but does not fit in a comparative
structure.

Thus, the correct answer is:

(1)More.

Use "more” to form the comparative degree of adjectives that have two
syllables or more.

143. Choose the correct option to complete the sentence:

How__moneydoyouhaveinyourwallet?

(1) Much
(2) More
(3) Many
(4) Few

Correct Answer: (1) Much

Solution:

In this sentence, we are referring to an uncountable noun, ”money.” For
uncountable nouns, the correct question word is ”much.”

Thus, the correct sentence is:

Howmuchmoneydoyouhaveinyourwallet?

Explanation of other options: - ”More” is used for comparisons and doesn’t
fit here because we're not comparing the amount of money. - ”Many” is used
for countable nouns, not for uncountable nouns like "money.” - "Few” is also
used with countable nouns, which does not fit in this context.

Thus, the correct answer is:

(1)Much.

Quick Tip

Use "much” with uncountable nouns like money, water, or information
when asking about quantity.

130



144. Choose the correct option to complete the sentence:

Hejumped__thelaketosavethedrowningchild.

(1) in
(2) across
(3) into
(4) below

Correct Answer: (3) into

Solution:

The correct preposition to use here is ”into” because it indicates motion
from the outside towards the inside of a space (the lake). When referring to
entering a place or a body of water, ”into” is the appropriate choice.

Thus, the correct sentence is:

Hejumpedintothelaketosavethedrowningchild.

Explanation of other options: - ”in” refers to being inside a place but does
not convey the motion of entering the lake. - ”across” refers to movement from
one side to the other side of a space or area, but it doesn’t fit when talking
about jumping into a body of water. - "below” is used to refer to something
lower than another point, which is not appropriate in this context.

Thus, the correct answer is:

(3)into.

Quick Tip

Use ”into” when describing motion towards the inside of something, such
as a room, lake, or container.

145. Choose the correct option to complete the sentence:

Only__ofthecandidatescompletedthetest.

(1) several
(2) a few
(3) many
(4) alittle
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Correct Answer: (2) a few

Solution:

The phrase "a few” is used to indicate a small number of countable things.
In this context, ”candidates” is countable, so ”a few” is the appropriate option
to describe a small, but not insignificant, number of candidates who completed
the test.

Thus, the correct sentence is:

Onlya fewo fthecandidatescompletedthetest.

Explanation of other options: - ”several” means more than a few, and while
it is technically correct, it does not match the context of a small number. -
"many” implies a large number, which is not appropriate for this sentence,
which suggests only a small group completed the test. - ”a little” is used for
uncountable nouns, but ”candidates” is a countable noun, so ”a little” is not
correct.

Thus, the correct answer is:

(2)afew.

Quick Tip

Use 7a few” when referring to a small number of countable things, like
candidates, books, or apples.

146. Choose the correct option to complete the sentence:

Heran__theendo ftheroad.

(1) to
(2) for
(3) between
(4) over

Correct Answer: (1) to
Solution:

The correct preposition in this case is "to.” When talking about movement
toward a destination, "to” is the appropriate preposition.

Thus, the correct sentence is:

Herantotheendo ftheroad.
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Explanation of other options: - ”for” indicates purpose or duration, and it is
not suitable for describing movement toward a place. - "between” is used when
referring to a space separating two things, which does not apply here. - ”over”
typically indicates movement across a surface, not toward a destination, which
makes it incorrect in this context.

Thus, the correct answer is:

(1)to.

Use "to” when describing movement toward a specific destination, like
running to the end of the road.

147. Choose the correct option to complete the sentence:

__thestudentswereaskedtoassembleinthehall.

(1) All
(2) Few
(3) Many
(4) Whole

Correct Answer: (1) All

Solution:

The correct option here is ”All.” The sentence refers to the total group of
students being asked to assemble in the hall. The word ”All” fits perfectly to
indicate the entirety of the students.

Thus, the correct sentence is:

Allthestudentswereaskedtoassembleinthehall.

Explanation of other options: - ”Few” refers to a small number of students,
but the sentence implies that every student was asked, not just a few. - ”Many”
refers to a large number but does not indicate the totality of the students. -
"Whole” refers to a singular, complete entity but is not typically used with
plural nouns like ”students” in this context.

Thus, the correct answer is:

(1) AlL
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Use 7all” when referring to the entirety of a group of people or things.

148. Choose the correct option to complete the sentence:

The foodwehavepreparedwillnotbe__fortheguests.

(1) Much more
(2) Enough
(3) Few
(4) A little more

Correct Answer: (2) Enough

Solution:

The correct word to complete the sentence is ”enough,” as it is used to
indicate the sufficient quantity required. The sentence implies that the food
prepared may not be sufficient for the guests.

Thus, the correct sentence is:

The foodwehavepreparedwillnotbeenough fortheguests.

Explanation of other options: - ”Much more” would suggest an excess of
food, which doesn’t fit the context. - ”Few” refers to countable things, but food
is uncountable in this context. - ” A little more” also suggests a small addition,

but "enough” fits better as it directly addresses sufficiency.
Thus, the correct answer is:

(2) Enough.

Use "enough” to describe sufficiency, whether referring to countable or
uncountable nouns.

149. Identify the correct synonym:

Bland

(1) Crude
(2) Exciting
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(3) Banal
(4) Tasty

Correct Answer: (3) Banal

Solution:

The word ”bland” refers to something that is dull, uninteresting, or lacking
in flavor or excitement. The most fitting synonym here is ”banal,” which also
means lacking in originality or excitement.

Thus, the correct answer is:

(3)Banal.

Explanation of other options: - ”Crude” refers to something in its natural or
raw state, which is not synonymous with "bland.” - ”Exciting” is the opposite
of ”bland,” as it refers to something stimulating or full of energy. - ”Tasty” is
also the opposite of ”"bland,” as it refers to something with a strong, pleasing
flavor.

Thus, the correct answer is:

(3)Banal.

When looking for synonyms, consider the context in which the word is
used. ”Bland” often describes something unremarkable or dull, making
”banal” the closest synonym.

150. Which of the following is the nearest in meaning to the given
word?

illusion

(1) deception
(2) perception
(3) deduction
(4) reduction

Correct Answer: (1) deception

Solution:

The word ”illusion” refers to a misleading or false perception of reality, which
closely matches the meaning of ”deception,” as both imply a false impression
or belief.
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Thus, the correct answer is:
(1)deception.

Explanation of other options: - ”Perception” refers to the way we interpret
or understand something, which is not the same as an illusion. - ”Deduction”
refers to reasoning or drawing conclusions based on evidence, which is unrelated
to illusion. - "Reduction” refers to making something smaller or less, which is
also not related to illusion.

Thus, the correct answer is:

(1)deception.

An illusion is something that deceives the senses or mind, making ”de-
ception” the closest synonym.

151. Choose the correct option to complete the sentence:

She__thebookonthetable.

(1) lain
(2) laid
(3) lie
(4) lay

Correct Answer: (2) laid

Solution:

In this sentence, the correct verb form to use is ”laid,” which is the past
tense of ”lay.” ”Lay” means to place something down, which is the intended
meaning in this context.

Thus, the correct sentence is:

Shelaidthebookonthetable.

Explanation of other options: - ”Lain” is the past participle of ”lie,” and it
is not suitable here because we are referring to the past tense action of placing
the book. - "Lie” is an intransitive verb meaning to recline, which does not fit
the context of placing the book on the table. - ”Lay” is the present tense of the
verb, but we need the past tense "laid” here.

Thus, the correct answer is:
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(2)laid.

)

is the present tense, while ”laid” is the past tense of
the verb meaning ”to place.”

Remember, ”lay’

152. Fill in the blanks with the correct option:

Thekingwaspleasedwith__queenand__minister, soaptlyawardedthem.

(1) the, the
(2) the, a
(3) an, a
(4) a, an

Correct Answer: (1) the, the

Solution:

In this sentence, we are referring to specific persons, the queen and the
minister. The definite article ”the” is used when referring to a particular or
known noun, which is the case here.

Thus, the correct sentence is:

Thekingwaspleasedwiththequeenandtheminister, soaptlyawardedthem.

Explanation of other options: - ”The, a” is incorrect because we are referring
to specific people, not indefinite ones. - ” An, a” is incorrect because both nouns

(queen and minister) require definite articles. - A, an” is incorrect because
”a” and ”an” are indefinite articles and are not used when referring to specific
people.

Thus, the correct answer is:

(1)the, the.

Quick Tip

Use "the” when referring to specific or known people or things, as in
”the queen” or ”the minister.”
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153. Find the word that means the same:
Adetailedplanorrouteo fajourney

(1) Travel
(2) Itinerary
(3) Course
(4) Path

Correct Answer: (2) Itinerary

Solution:

The word ”itinerary” refers to a detailed plan or route of a journey, typically
outlining the places to visit and the schedule for the trip. It is the most accurate
term for describing such a plan.

Thus, the correct answer is:

(2)Itinerary.

Explanation of other options: - ”Travel” refers to the act of going from one
place to another, but it doesn’t specifically refer to a plan or route. - ” Course”
can refer to a path or direction, but it’s not as specific as ”itinerary” for a
detailed plan of a journey. - "Path” refers to a physical route or track, but
doesn’t convey the organized, planned nature of an ”itinerary.”

Thus, the correct answer is:

(2)Itinerary.

Quick Tip

Use "itinerary” when referring to a detailed plan or schedule for a jour-
ney.

154. Find the word that means the same:
Capableo fourning

(1) Inflatable
(2) Combustible
(3) Edible
(4) Eligible
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Correct Answer: (2) Combustible

Solution:

The word ”combustible” means capable of catching fire or burning. It is the
most accurate word for describing something that can burn.

Thus, the correct answer is:

(2)Combustible.

Explanation of other options: - "Inflatable” refers to something that can be
filled with air, not related to burning. - ”Edible” means something that can be
eaten, which does not relate to burning. - ”Eligible” refers to being qualified or
capable of doing something, not related to burning.

Thus, the correct answer is:

(2)Combustible.

”Combustible” is the term used for materials that can easily catch fire
or burn.

155. Choose the correct option to complete the sentence:

Theestatestretches__bacreso fagriculturalland.

(1) besides
(2) beyond
(3) further
(4) across

Correct Answer: (2) beyond

Solution:
The correct preposition to complete the sentence is ”beyond,” which indi-
cates that the estate stretches past or extends further than 5 acres of land.
Thus, the correct sentence is:

Theestatestretchesbeyondbacreso fagriculturalland.

Explanation of other options: - ”Besides” implies ”in addition to,” which
does not fit the context of stretching beyond a specific amount of land. - ”Fur-
ther” refers to distance or time but is not the correct preposition here to indicate
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going past a specific point. - ” Across” implies spanning over an area or space,
which is incorrect when referring to extending beyond a particular measurement.
Thus, the correct answer is:

(2)beyond.

Use ”"beyond” when you want to indicate something extends past or
exceeds a specific point.

156. Fill in the blanks with the appropriate options:
Odysseushadnotbeenhome for__years, there forehe felt__apprehensiveasheapproachedIthaca.

(1) Few, many
(2) Several, a little
(3) Many, little
(4) A lot of, many

Correct Answer: (2) Several, a little

Solution:

The correct options are ”several” and ”a little.” ”Several” is used to describe
an unspecified but relatively small number of years, and ”a little” is used to
describe the degree of apprehension (indicating a small amount of apprehension).

Thus, the correct sentence is:

Odysseushadnotbeenhome forseveralyears, there forehe felta littleapprehensiveasheapproachedlIthaca.

Explanation of other options: - "Few” suggests a very small number, which
doesn’t fit well when talking about years in this context. - "Many” refers to
a large number, which would not work for both ”years” and ”apprehensive” in
this context. - ” A lot of” would be more appropriate for a greater quantity, but
7several” and ”a little” fit more naturally.

Thus, the correct answer is:

(2)Several, alittle.

Quick Tip

Use ”several” for an unspecified but relatively small number, and ”a
little” for a slight amount or degree.
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157. Find the word that means the same:
W henyouareactingo fyourown freewill.

(1) Forced
(2) Involuntary
(3) Coerced
(4) Voluntary

Correct Answer: (4) Voluntary

Solution:

The word ”voluntary” means something done by choice or of one’s own free
will, which fits perfectly with the idea of acting of your own free will.

Thus, the correct answer is:

(4)Voluntary.

Explanation of other options: - "Forced” refers to something done under
pressure or compulsion, which is the opposite of acting freely. - ”Involuntary”
means something done without control or against one’s will, which contradicts
acting of one’s free will. - ”Coerced” means forced to do something through
pressure or threats, which is the opposite of voluntary action.

Thus, the correct answer is:

(4)Voluntary.

”Voluntary” is used to describe actions that are done by one’s own choice,
without any external compulsion.

158. Which of the following is the nearest in meaning to the given
word?

Accomplishment

(1) Amusement
(2) Agreement
(3) Achievement
(4) Entertainment
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Correct Answer: (3) Achievement

Solution:

The word ”accomplishment” refers to something that has been successfully
completed or achieved, which is closest in meaning to ”achievement.” Both
words convey the idea of success or the completion of a goal.

Thus, the correct answer is:

(3) Achievement.

Explanation of other options: - ” Amusement” refers to something that en-
tertains or pleases, which is not synonymous with ”accomplishment.” - ” Agree-
ment” refers to mutual consent or understanding, which does not match ”accom-
plishment.” - ”Entertainment” refers to activities or events designed to amuse
people, which is not related to the concept of accomplishment.

Thus, the correct answer is:

(3) Achievement.

Quick Tip

” Accomplishment” and ”achievement” both refer to the successful com-
pletion of something, making them synonyms.

159. Identify the correct sentence:
(1) A gentleman wishes to sell a car who is about to go abroad.
(2) A gentleman has a car to sell who wishes to go abroad.
(3) A gentleman who wishes to go abroad has a car to sell.
(4) A gentleman has to sell his car who wishes to go abroad.

Correct Answer: (3) A gentleman who wishes to go abroad has a car to sell.
Solution:

The sentence ”A gentleman who wishes to go abroad has a car to sell” is
grammatically correct because it properly links the subject with the correct rel-
ative clause. The relative clause ”who wishes to go abroad” correctly describes
the gentleman.

Thus, the correct sentence is:

(3) Agentlemanwhowishestogoabroadhasacartosell.
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Explanation of other options: - Option (1) ”A gentleman wishes to sell a
car who is about to go abroad” is incorrect because the relative clause ”who is
about to go abroad” incorrectly modifies ”car” rather than ”gentleman.”

- Option (2) ” A gentleman has a car to sell who wishes to go abroad” is incor-
rect because the relative clause ”who wishes to go abroad” incorrectly modifies
”car” rather than ”gentleman.”

- Option (4) ”A gentleman has to sell his car who wishes to go abroad”
is incorrect because it implies the gentleman must sell his car in order to go
abroad, which changes the meaning.

Thus, the correct answer is:

(3) Agentlemanwhowishestogoabroadhasacartosell.

When using relative clauses, ensure the clause modifies the correct noun
(e.g., the person in this case).

160. Choose the correct option to complete the sentence:

W hatareyouthinking__?

—~
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Correct Answer: (1) of

Solution:

The correct preposition here is ”of.” The phrase ”thinking of” is commonly
used when asking someone what they have in their mind or what they are
considering.

Thus, the correct sentence is:

What are you thinking of?

Explanation of other options: - ”On” is typically used for physical locations
or surfaces, not in this context. - 7Off” refers to being deactivated or discon-
nected, which does not fit the context of thinking. - ”At” is used for specific
locations or points in time, which doesn’t apply to the act of thinking.
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Thus, the correct answer is:

Use "of” when referring to thoughts or considerations, such as ”thinking
of something.”

1. ’She’ in the 1st paragraph refers to:
(1) A woman

(2) The ship

(3) England

(4) A ball

Correct Answer: (2) The ship

Solution:

In the first paragraph, ”she” is used to refer to the ship. The sentence clearly
mentions that Nelson received his death from a ball fired from ”her,” implying
the use of the feminine pronoun for the ship.

Thus, the correct answer is:

(2)T heship.

Explanation of other options: - 7 A woman” is incorrect because the passage
is referring to a ship, not a female person. - "England” is incorrect as it is
not personified in the passage. - 7 A ball” is also incorrect because ”she” is not
referring to the ball in the passage.

Thus, the correct answer is:

(2)Theship.

Quick Tip

In English, ships and countries are often referred to using the feminine
pronoun ”she.”
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162. The qualities of Nelson’s character revealed in this passage are
his
(1) patriotism, his humanity and his powers of endurance.
(2) powerful voice and charismatic looks.
(3) arrogance and pride.
(4) positive attitude and humorous nature.

Correct Answer: (1) patriotism, his humanity and his powers of endurance.

Solution:

The passage highlights Nelson’s humanity and his sense of duty. It also
emphasizes his strength and endurance, especially as he continues to lead de-
spite his injury. These qualities reflect his patriotism, humanity, and endurance.

Thus, the correct answer is:
(1) patriotism, his humanity and his powers of endurance.

Explanation of other options: - ”Powerful voice and charismatic looks” are
not discussed in the passage. - ”Arrogance and pride” are negative qualities,
but they do not fit with the portrayal of Nelson’s character in this passage.

- 7Positive attitude and humorous nature” are not traits highlighted in this
passage either.

Thus, the correct answer is:

(1) patriotism, his humanity and his powers of endurance.

Quick Tip

Look for qualities that align with the character’s actions and virtues
in the passage. Nelson’s qualities are about bravery, endurance, and
leadership.

163. Fill in the blanks with the appropriate options:

ofJulie! smemoriesof homeweresadbuttherewere
happyonestoo.

(1) Much, few
(2) A lot, some
(3) Lot, some
(4) Many, few

Correct Answer: (2) A lot, some

145



Solution:

The correct answer is 7 A lot, some.” ” A lot” is used for uncountable nouns
to express a large quantity, while "some” is appropriate for countable nouns to
indicate an unspecified number.

Thus, the correct sentence is:

A lot of Julie’s memories of home were sad but there were some happy ones
too.

Explanation of other options: - ”Much, few” is incorrect because ”much” is
used with uncountable nouns and ”few” is used with countable nouns, but here,
we need "some” for countable memories.

- "Lot, some” is incomplete as "lot” should be ”a lot” in this context. -
”Many, few” doesn’t work because "many” implies a large number, but in this
case, "some” is more fitting to express a portion of memories.

Thus, the correct answer is:

(2)Alot, some.

Quick Tip

Use "a lot” for uncountable nouns and ”some” for countable nouns when
expressing quantity in this context.

164. Choose the correct option to complete the sentence:

Thestudentsweretoldnottoloiter__thecorridor.

(1) around
(2) between
(3) across
(4) about

Correct Answer: (1) around
Solution:

The correct preposition here is ”around.” The phrase ”loiter around” is com-
monly used when referring to standing or hanging around in a place without

any particular purpose, which fits the context of the sentence.

Thus, the correct sentence is:
The students were told not to loiter around the corridor.
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Explanation of other options: - ”Between” refers to being in the middle of
two places, but it doesn’t fit the context of loitering in a single space like a
corridor.

- 7 Across” refers to moving from one side to the other, which does not fit
the meaning of loitering.

- 7About” would imply being in the general area, but "around” is more
appropriate for the idea of loitering.

Thus, the correct answer is:

(1) around.

Quick Tip

Use "around” when referring to lingering or staying in a place without
a specific purpose.

165. Choose the correct option to complete the sentence:

Theboyjumped__therunningtrain.

(1) across
(2) from
(3) down
(4) above

Correct Answer: (2) from

Solution:

The correct preposition is ”from,” as it indicates the origin or the starting
point of the jump, meaning the boy jumped away from the train.

Thus, the correct sentence is:

The boy jumped from the running train.

Explanation of other options: - ” Across” refers to moving from one side to
another, but it is not appropriate when describing jumping away from a train.

- "Down” implies a downward movement, which does not fit the context of
jumping away from a running train.

- "Above” suggests a position higher than the train, but it doesn’t convey
the intended meaning of jumping from the train.

Thus, the correct answer is:

(2) from.
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Use "from” to indicate the starting point or origin of movement, espe-
cially in phrases like ”jumped from.”

166. Choose the correct option to complete the sentence:
Nowadays women are standing __ for their rights.
(1) aside

(2) up

(3) down

(4) ahead

Correct Answer: (2) up

Solution:

The correct preposition is "up,” as it conveys the idea of rising or stand-
ing firm for a cause, in this case, standing up for their rights. The expression
”standing up for” is commonly used when people advocate or defend something.

Thus, the correct sentence is:
Nowadays women are standing up for their rights.

Explanation of other options: - ” Aside” means to one side, which doesn’t fit
the context of advocating for rights.

- "Down” indicates a downward movement, which does not apply here. -
” Ahead” refers to moving forward or being in front, which is also not fitting in
this context.

Thus, the correct answer is:

(2) up.

Use ”stand up for” when talking about defending or advocating for a
cause or right.

167. Choose the correct option to complete the sentence:
I have not seen him __ yesterday.
(1) within

(2) between
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(3) in
(4) since

Correct Answer: (4) since

Solution:

The correct preposition here is ”since.” When referring to a point in time
from which an action began and continues, ”since” is the appropriate word. It
indicates the starting point of the action, which in this case is ”yesterday.”

Thus, the correct sentence is:
I have not seen him since yesterday.

Explanation of other options: - "Within” is used to refer to a time frame
within which something happens, but it is not suitable for a specific point in
time like ”yesterday.”

- ”Between” is used when referring to two things or periods, which does not
fit the context here.

- 7In” is used for more general periods like months or years, but for a specific
point in time, ”since” is the correct choice.

Thus, the correct answer is:

(4)since.

Use ”since” when referring to a specific point in time from which
something has been happening.

168. Choose the correct option to complete the sentence:

Hereyes filledwithtearsthinking__thetragedy.

(1) for
(2) after
(3) on
(4) about

Correct Answer: (4) about
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Solution:

The correct preposition here is "about.” The phrase ”thinking about” is
commonly used to refer to contemplating or reflecting on something, especially
when it’s related to an event or idea, as in this case, "the tragedy.”

Thus, the correct sentence is:

Her eyes filled with tears thinking about the tragedy.

Explanation of other options: - "For” does not fit in this context, as it is
used to indicate purpose or a reason, not contemplation.

- 7 After” refers to something that happens following an event, but here the
focus is on thinking of the tragedy itself.

- 70n” is used for specific actions or topics, but ”about” is the more appro-
priate preposition when reflecting on something.

Thus, the correct answer is:

(4)about.

Quick Tip

Use ”about” when talking about thinking or reflecting on a specific event
or subject.

169. Choose the correct option to complete the sentence:
If I __ you, I would accept the offer.
(1) was

(2) am

(3) were

(4) would be

Correct Answer: (3) were
Solution:

The correct option is ”were,” as it is used in the second conditional to express
hypothetical situations that are not real. The structure of a second conditional
sentence is ”If 4+ past simple, + would + base verb.”

Thus, the correct sentence is:

1 f Iwereyou, Iwouldaccepttheof fer.
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Explanation of other options: - ”Was” is used in the first person singular (I
was), but in the second conditional, we use ”were” for all persons.

- 7Am” is used for present tense, which is incorrect in this hypothetical sce-
nario.

- ?Would be” is incorrect because it doesn’t follow the standard second
conditional structure (which should have ”were” in the "if” clause).

Thus, the correct answer is:

(3) were.

Quick Tip

In second conditional sentences, use ”"were” for all persons, not ”was,”
to express hypothetical or unreal situations.

170. Choose the correct option to complete the sentence:
He went on holiday and returned __ a month.
(1) towards

(2) after

(3) on

(4) beyond

Correct Answer: (2) after

Solution:

The correct preposition here is ”after,” as it indicates the time that passed
before the action of returning. ”After a month” expresses the duration before
the person returned from holiday.

Thus, the correct sentence is:

He went on holiday and returned after a month.

Explanation of other options: - ”Towards” is used to indicate direction or
position, but it doesn’t fit when talking about a period of time.

- 70n” is used for specific dates or days, but it doesn’t fit for a duration like
a month.

- "Beyond” means farther than, which does not fit in this context about
time.

Thus, the correct answer is:

(2) after.
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Use ”after” to indicate the passage of time before an event occurs.

171. Choose the correct option to complete the sentence:
Each of the candidates __ a form to fill.
(1) to give

(2) was given

(3) were to be given

(4) were given

Correct Answer: (2) was given

Solution:

The correct option is ”was given” because ”each” is singular, so the singular
verb ”"was” must be used. ”Was given” indicates that the form was provided to
each candidate individually.

Thus, the correct sentence is:

Each of the candidates was given a form to fill.

Explanation of other options: - ”To give” is an infinitive form and does not
fit the context of the sentence.

- ”Were to be given” implies a future obligation, which doesn’t fit in this
case, as the action of giving the form is already completed.

- ”Were given” is plural, but ”each” is singular, so ”were” would be incorrect.
Thus, the correct answer is:

(2)wasgiven.

When using ”"each,” make sure to use a singular verb, as it refers to
individual members of a group.

172. Identify the correct sentence.
(1) It is cold, he will not be wearing a coat.
(2) Although it was cold, he was not wearing a coat.
(3) It will be cold, he was not wearing a coat.
(4) Although he was cold, but he was wearing a coat.
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Correct Answer: (2) Although it was cold, he was not wearing a coat.

Solution:

The correct sentence is ” Although it was cold, he was not wearing a coat.”
This sentence is grammatically correct because ”although” is used to introduce
a contrast between two ideas: it was cold, but the person was still not wearing
a coat.

Thus, the correct sentence is:

Although it was cold, he was not wearing a coat.

Explanation of other options: - "It is cold, he will not be wearing a coat” is
incorrect because it implies a future action when describing a present condition.

- "It will be cold, he was not wearing a coat” is incorrect because it mixes
future and past tense improperly.

- 7 Although he was cold, but he was wearing a coat” is incorrect because
7although” already provides the contrast, so ”but” is redundant.

Thus, the correct answer is:

(2) Although it was cold, he was not wearing a coat.

Quick Tip

Use ”although” to introduce a contrast or unexpected situation. Ensure
verb tenses are consistent.

173. Choose the correct option to complete the sentence:
He set __ for work early this morning.

(1) upon
(2) ahead
(3) off
(4) up
Correct Answer: (3) off
Solution:
The correct preposition here is ”off.” The phrase ”set off for work” is a com-
mon expression that means to begin a journey or a task, such as heading out

for work.

Thus, the correct sentence is:
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He set off for work early this morning.

Explanation of other options: - "Upon” is incorrect in this context because
it generally indicates a position or action that is resting on something.

- 7Ahead” is used to refer to moving forward or progressing, but it doesn’t
fit in the context of starting a journey or task.

- 7Up” is used in various phrasal verbs but doesn’t fit here, as it does not
convey the meaning of beginning a journey.
Thus, the correct answer is:

(3) off.

Quick Tip

Use ”set off” to describe starting a journey or heading out for a
particular task or destination

174. Fill in the blanks with the correct option:
She had __ nightmare after which, she neither slept peacefully nor did she
allow __ others to sleep peacefully.

(1) the, a
(2) an, a
(3) a, the
(4) the, an

Correct Answer: (2) an, a

Solution:

The correct choice is ”an, a.” When referring to "nightmare,” which begins
with a vowel sound, the indefinite article "an” is used. ”"A” is used before ”oth-
ers” as it refers to a general set of people.

Thus, the correct sentence is:
She had an nightmare after which, she neither slept peacefully nor did she
allow a others to sleep peacefully.

Explanation of other options: - ”"The, a” is incorrect because ”nightmare”

needs the indefinite article "an” and ”others” is used in a general sense, requir-
ing ”a.”
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- 7A, the” is incorrect as "nightmare” should use "an” due to the vowel
sound, and ”others” requires "a” for general reference.

)

- ?The, an” is incorrect because ”nightmare” should use ”an,” and ”others”
requires "a.”
Thus, the correct answer is:

(2) an, a.

Use 7an” before nouns that begin with vowel sounds and ”a” before
consonant sounds for general references.

175. Choose the correct option to complete the sentence:
Oil and water __ not mix.

(1) have
(2) does
(3) has
(4) do

Correct Answer: (2) does

Solution:

The correct answer is ”does,” because the subject ”oil and water” is treated
as a compound singular subject, meaning it is treated as a singular entity in this
case. "Does not” is the correct form of the verb to match the singular subject.

Thus, the correct sentence is:
Oil and water does not mix.

Explanation of other options: - "Have” is incorrect because it is used with
plural subjects, but ”oil and water” is treated as singular.

- "Has” is incorrect because "has” is used with singular third-person subjects
(like "he” or ”she”), but in this case, ”oil and water” is treated as a singular
subject.

- ”Do” is incorrect because ”do” is used with plural subjects, but we need a

singular form of the verb.
Thus, the correct answer is:
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(2) does.

When a compound subject refers to a singular idea, use the singular form
of the verb, such as "does” in this case.

1. Choose the correct option to complete the sentence:
While she __ home, it started raining.
(1) were walking

(2) walking

(3) is walking

(4) was walking

Correct Answer: (4) was walking

Solution:

The correct answer is ”was walking” because the sentence describes an ac-
tion that was happening in the past (while she was walking home) when another
action (it started raining) occurred. This is a typical use of the past continuous
tense.

Thus, the correct sentence is:
While she was walking home, it started raining.

Explanation of other options: - ”Were walking” is incorrect because it refers
to the plural subject form, but the subject here ("she”) is singular.

- ”Walking” alone does not convey the continuous action needed to match
the past tense structure.

- ”Is walking” is incorrect because it is in the present tense, but the sentence
is referring to a past event.

Thus, the correct answer is:

(H)waswalking.

Use the past continuous tense (”was/were + verb-ing”) to describe an
ongoing action in the past when another action occurs.
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177. Choose the correct option to complete the sentence:
He, along with his brothers, __ here.
(1) lives

(2) shall live

(3) living

(4) live

Correct Answer: (4) live

Solution:

The correct option is "live” because the phrase "along with” does not affect
the subject of the sentence. The subject is "He,” which is singular. However,
the verb needs to agree with the main subject ”"He,” not the "brothers” added
with ”along with.”

Thus, the correct sentence is:
He, along with his brothers, live here.

Explanation of other options: - ”Lives” is incorrect because the subject ”He”
does not change the verb to a plural form when ”along with” is used.

- 7Shall live” is incorrect because it suggests future intention, which is not
needed in this context.

- "Living” is incorrect because it is a gerund, and we need the base form of
the verb here.
Thus, the correct answer is:

(4)live.

When ”along with” is used, it does not change the number of the main
subject, so use the verb that agrees with the main subject.

178. Identify the correct sentence.
(1) This bag is enough not big.

(2) This bag is not big enough.

(3) This is not the bag that is enough big.

(4) This is not enough big bag.
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Correct Answer: (2) This bag is not big enough.

Solution:

The correct sentence is ”This bag is not big enough.” In this sentence,
”enough” comes after the adjective "big” to indicate that the bag’s size is insuf-
ficient. This is the correct structure when using ”enough” to describe something.

Thus, the correct sentence is:

This bag is not big enough.

Explanation of other options: - ”This bag is enough not big” is incorrect
because the word order is wrong. ”Enough” should come after the adjective.

- "This is not the bag that is enough big” is incorrect because ”enough”
should come after the adjective ”big,” not before it.

- 7This is not enough big bag” is incorrect because ”enough” needs to follow
the adjective in the correct position.

Thus, the correct answer is:

(2) This bag is not big enough.

When using ”enough” to describe an adjective, place it after the
adjective (e.g., ”big enough”).

179. Find the word that means the same as:
Travelling faster than sound

(1) Supersonic
(2) Superficial
(3) Supernumerary

(4) Supercilious

Correct Answer: (1) Supersonic

Solution:
The correct word is ”Supersonic,” which refers to something moving faster

than the speed of sound. This term is commonly used to describe speeds or
objects, such as planes or jets, that exceed the speed of sound.
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Thus, the correct answer is:
(1) Supersonic.

Explanation of other options: - ”Superficial” means something that is shal-
low or lacking depth, which does not fit the meaning of traveling faster than
sound.

- ?Supernumerary” means something that is in excess or extra, which is un-
related to speed.

- ”Supercilious” refers to being arrogant or condescending, which is not
relevant to the concept of speed.

Thus, the correct answer is:

(1) Supersonic.

Quick Tip

”Supersonic” refers specifically to speeds greater than the speed of
sound, commonly used in aviation and physics.

180. Which of the following is the nearest in meaning to the given
word?

Turbulent
(1) Exciting
(2) Horrifying

(3) Disturbing
(4) Tumultuous

Correct Answer: (4) Tumultuous

Solution:

The word ”turbulent” refers to a state of disturbance or disorder, often de-
scribing a situation or environment that is chaotic or violent.

”Tumultuous” is the closest in meaning to ”turbulent,” as it also refers to
chaos or disorder, often in a noisy or violent manner.
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Thus, the correct answer is:
(4) Tumultuous.

Explanation of other options: - ”Exciting” refers to something that arouses
enthusiasm or interest, which is not the same as ”turbulent.”

- "Horrifying” refers to something that causes fear or terror, but it does not
fully capture the chaotic or disordered nature of ”turbulent.”

- ”Disturbing” refers to something that causes unease or discomfort, but
”tumultuous” better captures the intensity of disorder implied by ”turbulent.”

Thus, the correct answer is:

(4) Tumultuous.

”Turbulent” and ”tumultuous” both describe situations that are disor-
derly, violent, or chaotic.
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